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1 Thenetwork hasscheduledto provide  coverage of the debate for the presidential candidates at 3pm today.
Wlife Blive ©adive Dlively
2 In Singapore, throwing a cigarette butt on the street is punished withaheavy =~ of several hundred dollars.
(A)sentence (Biticket (C)debt (Dfine
3 Thereleaseof themoviewastimedto ~ with the director's seventieth birthday.
(Acoincide (B)collide ©equa Ofal
4 Shedeveloped aterrible fear of strangers after being sexually ~~ inapublic park.
(A assaulted (Barrested (©accorded (D)abjected
5 The newspaper  that the mayor has accepted bribes but it provides neither source of information nor
evidence.
(Aproves (Bprefers ©alleges (Dacclaims
6 In Antarcticaduring the winter, temperaturescan _ below-100 degrees Fahrenheit.
(A)drop (Bquit (©)abandon (Dattach
7 Theinmates often feel treated associal ~ after being released from prison.
(A)abbots (B)associates ©oultfits (D)outcasts
8 Theprofitswill be equally divided the five stock holders.
(AYamong (B)between ©aong (Dfor
9 Theapatmentisvery prettyand, , therentisquite low.
(A)otherwise Blikewise (©)moreover (Dyalover
10 Seeing my daughter finally winning agold medal after all the years of hardships, | felta ~ inmy throat.
Atie (Bbone ©hold Dlump
11 Thepolice  afarmhouse wherethe terrorist leader was believed to be hiding, but found nothing.
(A)robbed (Braided (©defended (D)debased
12 Someone once joked that dogs think you'refamily, ~ catsthink you're staff.
(Anevertheless (Blwhereas ©however (Dlikewise
13 Oneofthemost  partsof living at the South Pole is that the sun neither rises nor sets.
(A)supportive (Bmanageable (©declining (Dydisorienting
14 When his son was caught cheating intheexam, hehadto ~ hispride and meet the principal.
(Aysurrender (B)swallow ©resign (Diretire
15 To cut down on the man power, the company offered agolden ~~ to many of their senior employees for early
retirement.
(A)cold shoulder (Blhand shake ©head count (Dfacelift
16 Apart from the regular examination, the Customs will sometimesconducta _ in order to prevent corruption.

AWtariff cut (B'tax refund ©duty memo (D)spot check



17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

gL 4141

=X 14-2

According to areport issued by National Development Council in Taiwan, foreign travellers who make value-added
tax refunds will be from examination in the Customs. They will no longer need to go through Customs
examination.
(Avacant (B)steady C)exempt (Daert
Passengers are only allowed to carry a certain amount of baggage when boarding an airplane.
(A)produced (Bendangered (©accompanied (Dimported
Travellerswho carry counterfeit and pirated goods will be intellectual property right.
(A)in charge of (Bin violation of ©)in case of (D)in place of
There are different ways of customs declarations. But usually making electronic declarations is more
convenient than others.
@filing (Breleasing ©appealing (Dpromoting
One essential procedure for customs isto carry out checks on persons, baggage and other things that enter
the country.
(A declaration (Bclearance (C©)stamping (D)application
In the United States, a customs is highly paid because the person who takes this position needs to shoulder
important responsibility and is fully aware of complicated import laws and regulations.
(Aimporter (Bconsignee (©declarant (D broker
The Community Charge, aso known as a poll tax, is a certain amount of tax on each individual who
resides in the community.
(Aissued (B)levied (©approved (Dregistered
Imported goods that are stored in a warehouse are usually controlled and handled by the customs and can
be exported without paying any tax.
(A)bonded (Bposted ©Ofinished (Dpriced
Zoe got an response upon inquiry when she applied for a tax refund in the Customs office this morning.
She was very pleased with the public service they have provided.
(Aanxious (B)internal ©immediate (D)abominable
Any goods that need to be either imported or exported will have to get the permission from the government and
obtain a for imports/exports.
(A)description (B)procedure ©sample (D certificate
Any movement of goods such as drugs and endangered animals into or out of a country can be seriously
punished.
(A)personal Billega ©national (Ditechnical

, Hinojosa has assisted the customs in many other countries with their capacity building. She mentions that it

has to do with tasks related to traditional trade.

(A)Otherwise (B)Instead ©However (DMoreover

With Hinojosas great abilities at customs administration, she can act as the best candidate for the World
Customs Organization.

@at all (B)in order ©ontime (D)no doubt

In many countries, foreign visitors are usually to have a tax refund when they purchase products that
amount to certain values of money.

Wentitled (B controlled ©issued (D)declared

One important way to export trade in a country is to create a nation's image as a quality provider because
people usually are more willing to import goods with excellent quality from other countries.

(Aexamine (Biassemble Oreview (D)promote

Finally, resolving one last misunderstanding between them, Bridget's plan to marry Mark is confirmed by

the scene of both of them kissing each other.
(A)sofor as (Baslong as ©in spite of (Dasaresult of
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Written English has evolved mostly in ways unrelated to the changes in the spoken language, thanks in part to
shenanigans and human error. The first English printing press, in the 15th century, was operated by Belgians who didn't
know the language and made numerous spelling errors (such as "busy" in place of "bisy"). And because they were paid by
the line, they sometimes padded words with extra letters; "frend,” for example, became "friend." In the next century, other
non-English speakers in continental Europe printed the first English Bibles, introducing yet more errors. Worse, those
Bibles were then copied, and the writing became increasingly corrupted with each subsequent rendition. English spelling
became a chaotic mess, and successful attempts to simplify the spelling after that were offset by events that made the
language harder to learn, such as the inclusion of many aternate spellings in Samuel Johnson's influential English
dictionary. Unlike many other languages, English spelling was never reformed to eliminate the incongruities. In a sense,
English speakers now talk in one language but write a different one.
33 According to this passage, why did "frend" become "friend"?

(A)For making more money. (B)For creating extra meaning.
(©For reading between the lines. (D)For finding a pad for the word.
34 What does "corrupted" mean in this passage?
(A)erupt (B)erroneous ©greedy (Ditolerant

35 Which of the following is true about the evolution of written English?
Wt isclosely related to the evolution of spoken English.
(Bt is supposed to give credits to humor of human beings.
©lt is affected by many mischievous activities or mistakes.
DIt iscriticaly initiated by the chaos and reformsin Europe.
36 Which of the following statementsis NOT true?
(A The Belgians who ran the first English printing press did not know English.
B Thefirst English Bibles printed by the Europeans were full of errors.
(©Production of the copies of the Bibles featured financial corruption.
(DEnglish spelling kept getting worse even with some good efforts to simplify it.
37  Which of the following could best describe the main idea of this passage?
(A Printing of the Bibleis resulted from the evolution of English.
(B)Reformation of English has successfully rid the chaos in Europe.
(© Samuel Johnson became established after completing the English dictionary.
(D)'There are many inconsi stencies between written English and spoken English.

SEIC T L AIE S 38 S 41 78

The flipped classroom is a pedagogical model in which the typical lecture and homework elements of a course are
reversed. Short video lectures are viewed by students at home before the class session, while in-classtimeis _ 38 to
exercises, projects, or discussions. The video lecture is often seen as the key ingredient in the flipped approach, such
lectures being either created by the instructor and __39  online or selected from an online repository. While a
prerecorded lecture could certainly be a podcast or other audio format, the ease with which video canbe _ 40  and
viewed today has made it so ubiquitous that the flipped model has come to be identified with it. The notion of a flipped
classroom draws on such concepts as active learning, student engagement, hybrid course design, and course podcasting.
The value of aflipped classis in the repurposing of class time into a workshop where students can inquire about lecture
content, test their skillsin applying knowledge, and interact with one another in __41  activities. During class sessions,
instructors function as coaches or advisors, encouraging studentsin individual inquiry and collaborative effort.

38 (Wchanged (B/devoted ©reserved (D planned
39 (A)googled (B)copied (©)deposited D)posted

(
40 (A)connected (B)accessed ©twittered (Dcovered
41 (Whands-on (B)hands-of f ©hands-up (Dhands-down
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Numbers have a strange grasp on people's lives, thanks to the human tendency to _ 42  deeper meaning to
numbers. Some people make awish at 11:11. Others believe that good things _ 43 in threes. We celebrate birthdays,
anniversaries, sweet 16s. Some numbers are divine, e.g., seventh heaven, or are given divine connotations through math,
e.g., the golden ratio. And of course, there's pop culture: James Bond is 007; Jim Carrey did something-or-other with the
number 23. Twelve has found particular significance across cultural fields—there are 12 zodiac signs, 12 months in a
year, 12 models of Cylons. But 137 Thirteen's cultural meaning is a little more _ 44 . This number is most often
associated with fear or superstition, mostly in Western culture. Thirteen is rooted in negative meaning, which can partly
be _ 45 to the Bible since Judas, who betrays Jesus, was the 13th guest at the Last Supper, as well as to pop culture.
The horror franchise Friday the 13" capitalizes on the fear of the date itself.

42  (A)subscribe (B)prescribe (©describe (D)ascribe

43 (Wget (Bymake ©go (Dcome

44  (A)sinister (B)sapient ©residual (Dredeemable
45 (Mtraced (B)retorted ©resulted (D appealed

S N OB ES 46 JE 25 50

My husband Peter and | lease a land for organic farming in the foothills of Northern California. In the heat of
summer, my fields cover the bronzed landscape like a green quilt spread over sand. We mind the requirements for organic
farming and successfully get certificates for al our vegetables. Ten acres of them trace the contours of a small valley
floor. Tomatoes glow crimson, flowers bloom and watermelons grow fat. But the beautiful picture does not overrule the
reality that my business is struggling. Whenever a customer asked how things were going, | replied, Great. | never
revealed the truth, Well, we're making ends meet, but we work 12 hours a day, 6 days a week, and pay ourselves only
what we need to cover food and household expenses: $100 per week. | didn't tell anyone how, over the course of the last
three years since Peter and | had started our farm, I'd drained most of my savings. | didn't admit that the only thing
keeping the farm afloat was income Peter and | earned through other means — Peter working as a carpenter and | as a
baker. | didn't say | felt like | was trying to fill a bathtub when the drain was open. People admire organic farming, but
they seldom know it's hard to sustain aliving.
46 What does the underlined "them" refer to in this passage?

(A The tomatoes (B The flowers (©The watermelons (D'The plantsin the fields
47  According to the passage, which of the following statements is true about organic farming?

(WIt hasto be located on the floor of avalley.

(B Tomatoes and watermel ons are the most popular products.

©lt can get certified if meeting specific standards.

(D Different means of farming have been promoted.
48 What does "making ends meet" mean in this passage?

(AManaging to keep regular hours of life.

(BManaging to cover space of the landscape.

(©Earning and spending equal amounts of money.

(D'Working and resting for equal amounts of time.
49  According to the passage, which of the following statementsis NOT true?

(A The narrator liesto her customers about her business.

(B The narrator makes big profits through her hard work.

(©The narrator and her husband need to do odd jobs to cover their expenses.

(D'The narrator and her husband have spent all their savings on the farm.
50 What isthe major problem that the narrator is facing?

AIt istoo hot to work in the summer on the farm.

(Bt istoo hard to get rid of the fatsin their body.

©lt isurgent to deal with the draining problem in their bathtub.

DIt isdifficult to support themselves by solely working on the farm.
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RLER RS > BAFDLSENEE AR E /E - EESRHL - A FAMERIEAR - 8 2 ERIRAET - ik
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35 14 | %24 | ¥3ME | FAME | ¥OAE | ¥OHE | FTH | %8HE | 94 | 5103
2% C B C D B A C D B D
150 %1148 | %1232 | %134 | %1448 | %1534 | %1648 | %1738 | %18% %1948 | %203%
t % A D B B C C C B A B
REL | $21388 | %224 | %238 | 24485 | %204 | ¥ 268 | w273 | %284 | ¥29% %304
2% B C D C C A C C B C
5 %3148 | %328 | %333 | %3445 | %354 | %363 | 37 | %384 | ¥39% | %404
t % C A C D D C D C C B
REL | $4138 | %4285 | $43% | 4435 | 5454 | ¥46% | ¥4TIE | %484 | ¥49% %504
£ % C C B ¥ B D D C A ¥
35| $51AL | 95241 | $534L | $544 | $554L | $564E | #57AL | $584 | %594 | ¥604T
Ex
35 ¥614E | $624T | ¥633 644 | $654L | ¥664E  F67AL | $684L | %694 %704
5 %T
A BTIAE | $724L | $734L | ¥ 748 | $754L | $T6RE | H77AL | $T8A | %794 | %804T
Ex
25| ¥814E | $824T | %834  ¥844% | 854 | %864 ¥ 8TAL | 5884 | %894 %904
5 %T
35| #9188 | %924% | %938 | %9448 | % 954F | %964 | 973 | % 984E | %994 | % 1004L
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# L R4 CADACDH 2% A - 5504 Ba -
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A,; ROE| OB A ﬁ ;}; g EHMBARABREAR )
" DV LB LEMT WA REE A A
: Bl F TR & 45 AN B BT
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. BB EE  07-236-7296
P RN ET e
YRR D 1304 PRI

MARL T OF LR TIFEE-
OF PR (TE PG RRAAE R RRITA B AR S AR FEE A3 A o

ol

- FRAAES R R a‘é_ 7% (type equivalence) = i 1 ik LTI A E T
“ﬁ(ammmm) &# @ﬁi%ﬁ ﬁg@,ﬁﬁwﬁ3ﬁﬁ4;o%ﬁ
SRR (X T AT X 2L T) Ginn AT E R S T A

S H P PR GHTEE A ST T o (20 4)
type T = array [1..10] of float
X:T
YT
Z : array [1..10] of integer

S P EEeFE Y o H]T A 29 (W 2 ) m?fw:‘ (visibility ) # 78 =
ﬁ#immﬂ Hr R AE TR BHE D65 R AU A Tk
A . (20/’})

st T v 2 (context-free grammar) B M- R ERR) o M A G B RL
7+ 3¢ (regular expression) - a*(batba*)* » = 2 4pF anEs (*BPEALVT L4 F I
BB ) o L AT B e EARP) 0 ¥ 4% (rightmost derivation) o4& ¥ )
babaaabb - # - (20 & )

i

En
&

#.

o~ TP C ARG PR Aok L EL A ER AR 0 aF S Rt o st
%@Tiﬁnwwa’ﬂ&:0123456789’;#ﬁ?#;ﬁﬁ%ﬁﬁ@gﬂu'
G RN PREFREETRET AR B ISR R AT (204)
void foo() {
Inti;

printf("%d ", i++);
}
int main() {

intj;

for (j = 1; j <= 10; j++) foo();
}

VR TR R - SRS 0 R BB TR (thread) 2 B 3 v feik 4
(hash table) - m fe% 4 gk iv 28 2 f F M (atom|C|ty) o RV - B3
T 44 (mutual exclusion Iock) iif,l%é&’fl%%\ » Re U - BA L W RER BRE
% 4§ (bucket) o FA WP iEA ik igE{ril B o (204 )

SN
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0 HTE T B L E R REE
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F Pty s Line@#& 3% : @gaofeng

TixpER o | B @43 ¢ 07-236-7296 .

LR P ORGP 0 - FRAL “ B" Ff‘ﬁxii‘ﬁ EFOHEFEF O GHIAFA
OAFp = 40 45>+ 48 2.5 /,,\ B 2B 4TS hiEF xz:%\%{ﬁ%] RO N5 R S 5 Y

@FrE*rTFIFEE-

1 HAEASEEEER R EEa S e il &4 (R 4G) - HPrE AV AR TIEERE &
(AADSL ( Asymmetric Digital Subscriber Line )
BLTE (Long Term Evolution )
O©WIMAX ( Worldwide Interoperability for Microwave Access )
(DCDMA ( Code Division Multiple Access )
2 —fiEIFEAI A UNIX setuid() bR E —(ERATTAE - N YIRS =2 A 2
(VRIS TAE P IUFTAZRY effective uid HARKETHEHEA & 1Y uid
B 7K AP TR TARZHY effective uid HRBETTREHEA EHY uid
OB TR TRZHY real uid ARG THEHEA & HY uid
D)7 A MU TAEIE LT TAZHY real uid HARCEHTTAEHEA EHY uid
3 EARfEE 800dpi AT 5x7 BLI5) 256 VIR (iR R 1 9R » sEMa DI E L/ DELE MB {725 ?

®)30 B)22 ©18 D)21875
4 RIEEFZ RN SR LG I B R ARSI SR o o i e FA S i A R R 7% M B s S i 2B L R 1l AP — SRS 2
AWE RS (DaaS) B®EEEXGEIRES (1aaS)  ©FEMR# (PaaS) DEEEARTS (SaaS)

5 (e —HPER > H CPU B Fas REI R 16 T - EHRIENTHF (Data Bus) /8 fiiT @ SMEMAL kR
(Address Bus) %520 fiz7t > 550t CPU Y ERSSC RS EHEZEH e K2 /) ?
(A 1MB (B)640KB ©)256KB (D)64KB
6 KL [REt CPU AISZHE 2 i 16 fiycHYRC A SRR NINE A4S RIEHFRECIERAVEBINAES » F M
CPU ST —KILEEBUINETE S T A RAVEC IRAG FHL ?

A6 B®5 K ©4 R D)3 X
7 EUREETEF(10001. 10001), -(13.74)s HI4E R IEZE %2V 2
(A)(5.65625)10 (B)(101.100111), ©)(5.43)s D)(5.98)16

8 BhfdilE (bitmap graphics) EA[AEfE (vector graphics) & FIRY R BiikgE 24 G - BRI &Y
EL#g - ARG R 2
(A) P e e 1 T BRI P AR Y 22 T e e D
(B) A 2 B R LA 5 e A Rt i
© LA 1A & [ 2 IR R YR S thi R '
(D) ] 2 | B B 22 e T R B P e ~ HIBRECRS Bl
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F = :4-2

L #F1| (Fibonacci number) ZEFEAI T ©

B ne=0 rm=1" Hlnp=n+ng=1+0=1> n3= np+m=1+1=2"> ... > N = Ni.1+Ni»
= DR AR AT HEERET > o —(E n {H > SKEEKEDIEE n THAVE - 55 IR HEE Ryl ?
(A)O(n) (B)O(nz) ©O(n log n) DOR2"

A LU MEZR B - FERIRE NI o - 55 Uik {FHE (Call by Address ) HYJT7AAE RS - 55 print(C)
ECRTEER CERZ/D?
sub(W, X, Y, Z) -
begin
X=W+W /
Z=Y-W /

end

A=6 , B=7 , C=8 ’
call sub(A, A, A+B, C) -

print(C) -
(A)7 ®1 ©12 D8
ERUERRFRIST A SR B ABERE RN > EERA—E SQL 5% ?
(A DROP TABLE (BDELETE TABLE (OALTER TABLE (DTRUNCATE TABLE
THR—tER A HATNRE(E R YR A 2
WZFE VISA ®fEHF OfEPRF NESIiaS

WAEA 2 e B4 HE AR (Web Mail) BJHEER] > 41 google mail » yahoo mail » Hotmail 25 » 45
FEH 20 E T EMFIRSR F T BEAE Web Mail HHULHUE 20K [E] BB T EAFIRSE N aVE 4 FRAFTLEAIE Web Mail
b e BT EIRITERHE A T —EE R ESAE E T 2

(APOP3 a3 BFTP falfikes (OSMTP falfik &5 (DBBS falfkE%
THIMEE R B A PR RS BRI v 1 A B T B (SRS B A Ik 5 B A 5 P PR B A B S & A T 2
WAL S (phishing) — B EREHSE (virus) OFEFEE (malware)  DEEEEEE (spyware)
TEESR LR S THIRES R - THIMRIE R 2 H R Atrv4EfE =0 2

(W EEFEAERS B IEEAERE O BRGNS DEFP&EHE

T ERNBEEAREHEEHES (Macro) f5RE4 T HIERL ?

W2 Z g ®RD HIERRE  ORASITER AR OS5

H AR HA ARG TR — BB IR SRR R Rt AT B 45 BN - S5 5L FF REZAE Y IMrIEA
B RFHE S ?

() FFE BE N E R raEE CETEREL DA

fitREA#L F(A,B,C.D)=X(2,4,5,6,10,12,13,15) » GH LG & FIfSe0E F Ryfo] 2

ABC+CD’ BBC+B’D’ ©BC+C’D’ (DB’C+BD
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:4-3
1F UNIX BBIRBYTLAT C 2R B » 55 R printf(j) oy 45 5 Fefol 2

i=1; j=1,k=1;

if((i=fork())==0) {

j+=1; exit(j);
} else{
j+=1; wait(&K); j+=k;

} printf(); exit();
A3 B4 ©)5 D6
#AH frTE R 10110010 » F[FH CRC (Cyclic Redundancy Code ) Hifli A&} - 8 A R 2 TH
P(X)=x"+x" x>+ RIS EARE TS A5 BRI By fa] 2

(1011001011101 (B1011001001011 ©1011001011011 (D1011001001101
http RN E port /&
(8)22 B 80 ©)88 D1024

Single instruction, multiple data ( SIMD ) Jz Multiple instruction, multiple data (MIMD ) Z&f&## 5 FH2k$5 T %1
o[ 2

A 1TEEEE (parallel processing ) ®5rErEGETE (distributed computing )
Ot FEH (batch processing ) O AREI T (mainframe )
N R A T PREGC RS (cache) | HYTDIAE ?

OB DI ENGES o1 Bk D S22

(OF DI BT =TS DI Z S AT (scalability )

1 Peta Byte SEiXZ%/D A1 t4H (byte) ?

®10" ®10" ©?2% D2

Higm b o NYIMefE R RAAYAH & P DU SRAH BT A B B ER RS 2

(A{EH AND Gates (BfEFH OR Gates

©{%F NAND Gates (D& FJ AND Gates Ei1 OR Gates

EIFHRE D' Y ASCIL 4R A 0100 0100 » & 'T' Y ASCII 4RH8E Fy{a] 2

®0111 0100 ®0100 1111 ©0101 1101 0101 0100
n L TCHY AT (2°s complement) o » FTREFR RV ER R IEERy MY 2

®2" -1 ®2"" -1 ©2"' D)2
TEEEE A A AR (5F 1 @R XOR » ®%7R XNOR » +#7< OR » /R AND) 7
WXD(YDZ) = (XDY)DZ BX(YRZ) = (XQY)RZ

OXHY+Z) = (X+Y)H+Z DXe(Y®Z) = (XeY)®Z

8 L TCHY —AlE &4 (2°s complement) 1> 0001 1010 B2 1111 0011 » HAHAIZ AL N HIfa2 2
(®)0000 1110 (0000 1101 ©1111 0010 DA (overflow)

YRR E R S R TS 2T DA FVEE S Rk ~ R ?
(WEBCDIC (B/Unicode ©ASCII DUTF-8
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TIHIRERESE 2GR (CPU job scheduling) #Uik » Al IR (EEXRGUZENRERY - FHVEZRE (process )

FARENEL - FEREFFFENPITIEE AR (finite) » H¥iEFEENEE NG ERERPIERF

HE IR ?

WA CPU B J#E] (time-slicing ) > Round-Robin Scheduling {/44# 41 (R4 H1E & #EEHYERF CPU

(B)First-Come, First-Served Scheduling {5 A] G5 & i il A5 Lo f2 e & SR Y S 157

©FFH CPU B #E] (time-slicing ) =] DIA R 22 7 4F High-Priority-First Scheduling HYHFFZSRIE T iE Rk
TRIRAVERE

(D7E High-Priority-First Scheduling FVHFFZSREE T » WIERIZFHIESCHE (priority ) GFEZE MRS »
JERGN AL G HRAELT

AN A IERERY IPv4 izl ?

()0.0.0.0 (B)255.255.255.255 ©0.1.2.3 (0)0.0.0.256
£ Unix {ESE 550 - & —EREZVEIRBR R rwxr-x-— > THI [ 55 ©
WEERHPIRY A E UL SR BEEHENHIAABEBT TILIEZE
OFFHESMIAA %‘E:%HMW% DEEELASMI AR REBT TILAE ZE

o

T HIHR— (& $4gE i G R P A Yy s B i AR m R ~ BONHR AT e B W48 (Internet) ZEEEAR » EEIAE
{BAYAEEERER 7
&) K¥EIE (Big Data) B®7TE)EE (Mobile Computing )
O%%#49 (Internet of Things ) DEHHEE (Cloud Computing )
TR RSN E R AR RS EC B R B AT 70 B DU KIS, ¢ Heap, Stack, Static/Global, Code = NI{A# /&M
A7 function calls HY5EE8] 2
(A)Heap (B)Stack (© Static/Global (D)Code
fEEt R TR Ay R T - FARE =PRI =T - A RrRIRE X Bl (R ae s A Eacieis - S5
TEIMErE 2
WENREH A (dynamic loading ) BFFELR:E (dynamic compiling )
©PF&EHEENA (plug and play ) OEEECER  (virtual memory )
—fEIME > TSRS & A S R P R R R & s K 2
W& (voice) 1&
® )= (animation) Fi&
©1FH (video) £
(D) F 444258017/ ( Musical Instrument Digital Interface, MIDI ) &
NI ER AR N R S R AR E R aea T 2
(HMP3 (BMPEG OWMV (DH.264
RETNERHERSE - YR E$EER 2
(Af5H FIRE A M R4 (lossy compression » B EFRYE ) A LALLIERAEMEER4E (lossless compression ) KiEHg
&R 4RLD
(BMPEG JZhiz 152 M4 BA 4
(©JPEG 2 IF 1 BR e
(DMP3 27 ERRIF 1 R 4R
1 SRR BR i st o A AEE 25 T (5 R EE 2R BG seA Bh R &R BR it 2
(M)I-frames B P-frames (B)I-frames 4 B-frames ~ (Of£F I-frames (DB-frames £ P-frames

©
D
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1047 25 4 fH4EY M4 | 438 - 1047 2054 fH RT3 0 thaet i 4 322
IITESIE P R T

H ¥ 45K 4041 H g EAgp s 12,504

%’g’g{g&: ;f{‘igﬁ,ﬁﬁjaé\ :

WIEE

e | %18 | %248 | %38 | w43 | %04 | %63 »TH | %84L | %94 | %108
5% B A B A D D B
e F1148 0 %1248 | %1348 | %1442 | %1038 | %1648 | %174 | %184 | %1948 %2042
Fx D C A A B B C A B A
5| F214E | % 22%F | $234E | % 24%F | %204 | % 26%% | %274 | % 284% | %203 | %304z
X% B A C D C D B D B B
25 %3148 %324% | %3348 | %344% | % 30%E | ¥364E | %374 | ¥ 384L | %394 | %4042
Fx D D B C B A C A D D
35| %4148 | %4238 | %4338 | %4445 ¥ 403F | %46%% | % 4THE | $48%% | %4947 | % 5H04%
% ;,35

288 %514% | %D024% | %5348 | %D44F | %D050%E | ¥DO64E | %DOTHE | ¥5H84L | %094 | % 604%
g

385 | %614E | %6248 | %6348 | %644% | ¥603%% | % 66%% | % 674L | ¥68%% | %69%% | % 704%
=g ;[_%T

e RTIHE ) % 728E | FT34L ) % T748E ) S TORE | FU64E | HTTHE | H784E | %794 | % 804%
£ %

375 | %814E | %8248 | %83%% | %844F | %80%% | % 864% | % 8THL | ¥88%% | %894% | %904%
=d ;[_%T

25| $914E | %92%% | %9348 | %94%F | %904 | %964% | %973 | $984F | %99%% | % 10048
%
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It isacommon that you hold the door open for anyone coming through behind you.

(A) curiosity (B) contract (© courage (D) courtesy
Fifteen minutes of walking aday is ahighly recommended exercise for your health.

) spira (B) tidy ©) brisk (D) hollow
Taylor Swift is undoubtedly a(n) artist. Besides singing and songwriting, she can play the banjo guitar,
piano, and ukulele.

() indigenous (B) versatile ©) intentional (D) vulnerable
The was so boring that many in the audience fell asleep in the middle of it.

(A) lettuce (B) exhibition ©) lecture D) exit

A broke into the dormitory last night and stole several cell phones.

A burglar (B) victim © plumber (D) carpenter

Be sureto be at theinterview. It gives avery good first impression.

(A) actual (B) perpetual ©) casua (D) punctua
Almost half of the audience has fallen adleep; , the speech is very boring.

(A) appropriately (B) accidentally ©) adequately (D) apparently
The extreme marathon runners have to overcome many to finish the race.

(A) miracles (B) objections (©) outcomes (D) obstacles
They have avery relationship between them. They keep no secret from each other.

A) intimate B inferior ©) internal (D) identical
Without food and clothing in the Tsunami area, the number of rose quickly.

(A) casualties (B) celebrities © continuities (D) certainties
With proper , employees would do their jobs willingly and efficiently.

(A) opposition (B) motivation (©) observation (D) construction

| could hardly Susan, my kindergarten classmate. She had become so tall and pretty.

(A) resolve (B) renounce (©) recognize (D) organize
Hisdriver'slicenseis because of drunken driving.

(A) sustained (B) expended (©) suspended (D) suspected

| don't think what you say is to the topic; please get back to the subject.

(A) ridiculous (B relevant ©) resistant (D) radiant

The about the border between the two countries gradually heated up.

(A) bargain (B) reputation (©) disposition (D) dispute
Itisvery easy to the work of others, but more difficult to accept criticism of one’s own work.

(A) get rid of B liveupto ©) take up with (D) find fault with
What are some of the things in life that you have trouble and try every means to prevent them from
happening?

(A) getting in touch with (B) putting up with (© getting even with (D) making up with
In this primary school, Hispanics 18% of the student population and Asians account for 28%.

(A) ingtitute (B) substitute © constitute (D) prostitute
Before you put a food product into your shopping cart, you should read the list and nutrition information
carefully.

(A) management (B) operation (©) percentage (D) ingredient
Christmas is coming, and the Lins have started to their Christmas tree.

(A) separate (B) decorate (©) operate (D) moderate
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Playing sports obviously helps your physical health. But did you know that following sportscan 21 your mental
health? So says Daniel Wann, a psychology professor at Murray State University in the US.

His research found that enthusiastic sports fans have lower rates of _ 22  and higher self-esteem than non-fans.
The main reason? The “tribal” nature and the sense of _ 23 . Fans are part of a social network, and any network offers
the support that helps to keep people mentally sound.

Cheering a team provides an _ 24  outlet, and when they win, fans can feel a similar joy to the athletes and a
lingering positive feeling. _ 25  following a losing team helps fans learn to cope and move on. So if people criticize
you about being a sports-obsessed couch potato, tell them you' re doing it for your mental health.

21 (A prove (B) expand (©) combine (D) benefit

22 () depression (B) expectation ©) expression (D) disappearance
23 (A forgiving (B) belonging (© consuming (D) negotiating
24 (4 ambitious B artificial (© emotional (D) electronic

25 (A BEven (B) Though © When D) Still

AT BB 26 5 30 #E

A “No Kissing” sign has been unvelled a Warrington Bank Quay railway station in northern England. The _ 26 is
to stop departing passengers from pulling up at a crowded drop-off point to kiss goodbye. The spokesman of Virgin Rail,
which runs the station, says that they have _ 27  the sign because the drop-off point is not a big area and drivers block
the access to the station while saying goodbye to departing passengers. The “No Kissing” sign is necessary in order to
make the station more _ 28 . Passengersarenot _ 29  from kissing, says the spokesman. If they want to spend more
time with their loved ones and kiss goodbye, they _ 30 to park in the short-stay car park nearby.

26 (A conflict (B) obstacle © purpose (D) resource
27 (& torn down (B) put up (©) passed on D) givenin
28 (A ambitious (B efficient ©) isolated (D) disciplined
29 @ dlowed (B) banned ©) confirmed (D) requested
30 (4 would rather pay (B) tend to pay © could have paid (D) should pay

AN X [EEE 31 £ 5 35 7

Scientists have genetically modified mice to enable them to sniff out landmines, the explosives buried just below the
surface of the ground. They hope the GM mouse, known as MouSensor, could become a useful tool to help deal with the
dangerous devices |eft from past wars.

Although it sounds peculiar, similar efforts have aready been made. A Belgian charity uses giant African HeroRats
to sniff out the chemical explosive, TNT. Two of these rats can clear an area in less than two hours that would take two
people two days to do. One disadvantage of the HeroRat, however, is that it needs nine months' training before being
ready for landmine detection.

Scientists wanted to improve on the HeroRat concept by creating a “ supersniffer” mouse, MouSensor. They found
that a receptor in the lab mouse's nose is sensitive to the odor of the chemical elements in TNT and landmines. By
atering the genes of the mouse, scientists are able to enhance the capability of its receptor 500 times stronger than before.
Besides having super sniffing power, the MouSensor is cheaper to manage and easier to breed than the rats.

When the MouSensor detects the presence of alandmine, it would have some sort of a seizure and faint because of
its extreme sengitivity of the explosives. And this change of the mouse's physical condition would trigger a chip implanted
under its skin to send a signal to a computer monitored by scientists. As a result, the location of the landmine could be
identified, and a bomb-disposal expert could go in and neutralize it. The mouse itself would be safe from the landmine,
since it would be too small to trigger an explosion.

31 How would aMouSensor help to identify the location of alandmine?

(4) It would lose consciousness. (B 1t would look into a computer screen.

© It would hide away from the landmine. (D) It would touch a chip implanted under its skin.
32 What does*“it” in the second paragraph refer to?

(A) The use of landmines during war.

(B) The idea of using mice to detect landmines.

(© The practice of applying genetic engineering to animals.

(D) The need to remove dangerous devices | eft from wars.
33 Which part of aMouSensor’s body is most sensitive to the explosives?

(A) The feet. (B) The skin. © The nose. (D) The mouth.



gL 4141

F=x :4-3
34  Which of the following statements regarding the MouSensor is true?
(A) A Belgian charity has already used them to sniff landmines.
(B The MouSensor would usually be safe in afield of landmines.
© A MouSensor could run 500 times faster than a HeroRat.
(D Two MouSensors would need two hoursto clear an area of landmines.
35 What isthe advantage of the MouSensor over the HeroRat in detecting landmines?
(A It runs faster in thefield. (B) It isless expensive to buy.
©) It does not need along training period. (D It neutralizes the bomb more effectively.
A T3 [EIE SR 36 REE 5S40

LOHAS is an acronym for Lifestyles of Health and Sustainability, a way of life that originated in the United States
about a decade ago. LOHA'S consumers are those who are passionate about the environment, sustainability, social issues,
and health. To push social and environmental responsibility, they purchase products such as organic soap, recycled paper,
hybrid cars, solar heating, and herbal tea.

Approximately 30% of American people are currently considered LOHAS consumers. The top product selection
criterion for 40% of American consumersis organic quality. For 20% of the consumers, sustainability is akey criterionin
deciding what to buy. The idea of LOHAS consumption continues to boost organic sales in the US. The US market for
organic food is growing by about 3.5 billion US dollars ayear, according to the result of Sustainability Research.

The LOHAS trend is aso beginning to catch on in Japan, where workaholic “salarymen” are looking for quick fixes
for stress and thinking green is becoming fashionable. Japan is receptive to LOHAS because the nation’s traditional
culture embraces a nature-loving view on life with hot springs and seasonal gourmet. A Tokyo department store has a
section for LOHAS goods. Magazines are singing the praises of the LOHAS lifestyle, including yoga, organic wine, and
aroma therapy. A restaurant serving ordinary but healthy dishes such as brown rice and vegetable curry claims to be
LOHAS. Not littering is d'so LOHAS. The values touch something as cheap as a hammock to something more expensive
as Louis Vuitton luggage.

36 What isthe main idea of the passage?
(A) LOHAS consumption is getting popular in the US and Japan.
(B) The concept of LOHAS appliesto food, cosmetics, body care, and clothing.
(©) Green products are now widely available and the price has declined.
(D) LOHAS consumption plays an important role in fighting global warming.
37 Whichitemis NOT mentioned as an example of LOHAS?
(4 Yoga. (B) Organic food. (©) Solar energy. (D) Bicycle.
38 According to the passage, what is the main reason for the popularity of LOHAS in Japan?
(A) Japanese love Louis Vuitton luggage.
(B) Japanese consumers are very educated and responsible.
(© Japanese suffer from long working hours and great pressure.
(D) The concept of LOHAS is similar to the spirits of Japanese culture.
39 Which of the following statements is true about LOHAS consumers?
(A) They are mostly workahalics.
(B) They are concerned about environmental and social issues.
(© Their main shopping concern is the price.
(D) They eat very little in order to stay healthy.
40 Which of the following statementsis NOT correct?
(A) LOHAS consumers take up half of the American population.
(B) The LOHAS concept originated in America.
© LOHAS people like a vegetarian diet.
(D) LOHAS people avoid products that pollute our land.
SEIC TS EIE SR 41 -EE 56 45

Does your older brother think he's cleverer than you? Well, he's probably right. According to new research due to be
published this week in the journal Intelligence, the oldest children in families are likely to have the highest 1Qs, and the
youngest the lowest.

The research is based on more than 1,000 children whose 1Q was tested through childhood and adol escence up to the
age of 18. The Dutch study shows a birth-order effect on intelligence in each of the tests. Overall, the |Q of the first-born
child was higher than the second-born, which, in turn, was greater than that of children who had two or more older
siblings.
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This is only the latest research to suggest that the order of birth can have a fundamenta effect on diverse factors,
ranging from the risk of cancer, asthma and eczema, to weight and even premature death. It can also affect personality,
achievement, and career, with first-borns being more academically successful and more likely to win Nobel prizes.
However, eldest children are less likely to be radical and pioneering. Charles Darwin, for example, was the fifth child of
SiX.

Exactly why there should be such differences is not clear, and there are a number of theories, with many homing in
on environmental influences on the child. The so-called dilution theory, for example, suggests that as family resources,
both emational and physical, as well as economic, are finite, it follows that as more children come along, the levels of
parental attention and stimulation will drop.

41 What isthe passage mainly about?
(A) The dilution theory.
(B) The effect of birth order on children.
(© The academic success of the eldest children.
(D) Different theories about the differences among children.

42  According to the passage, eldest children arelesslikelytobe _ compared with the later borns.
(A) adventurous (B) healthy (© successful D) intelligent
43 According to the research, which of the following is likely to have the lowest 1Q?
(A The first-born. (B) The second-born. (© The second youngest. (D) The last-born.

44 Which of the following statementsis true?

(A) Birth order affects many aspects of a person’slife.

(B) The 1,000 children in the study had their IQ tested only once.

(© The Dutch study isthefirst to examine the effects of birth order on intelligence.

(D) The dilution theory suggests that the more children, the better family resources.
45 What does the phrase “homing in on” in the last paragraph mean?

(A) Overlooking. (B) Doubting. (© Paying attention to. (D) Being responsible for.
BT SCE 5 46 REZ 5 50

The Blue Grotto, or Grotta Azzurra, is a noted sea cave on the coast of theisland of Capri, Italy. It was discovered by

a German writer in August 1826. Since then it has become a popular tourist attraction. It is said that Roman emperors
used the grotto as a private bath and antique statues were found in there. Inside the grotto, the sea seems to be lit from
underwater. The brilliant blue of the sea fascinates its visitors. The enchantment results from another opening to the
grotto, completely submerged. It allows the sunlight to pass through and light the water from below, creating a blue
reflection that illuminates the cave. To get to Grotta Azzurra, there are motorboats that leave from the port of Marina
Grande. At the entrance to the cave, passengers get into little rowing boats. The roof of the entrance is only one meter
above the sea level so passengers have to lie down in the boat while passing into the cave. The grotto cannot be visited
during adverse weather conditions.
46 What is the purpose of this passage?

(A) To inform readers about a tourist attraction. (B) To persuade readersto visit Grotta Azzurra.
© To offer ideas about spending a holiday in Capri. (D) To describe the author’ s visit to afamous cave.
47 What makes the Blue Grotto so famous?
(A It was discovered by a German writer. (B) Antique statues were found in the grotto.
©) Itisdifficult to get into the grotto. (D) The color of the seaiis extraordinarily blue.
48 Why do visitors have to lie down in the boat?
(A) The sunlight is too bright. (B) There are bats in the cave.
(© Theroof of the cave entranceis very low. (D) Thewind is very strong.
49 What isthe meaning of “adverse’?
(A) Unfavorable. (B) Splendid. © Dry. (D Mysterious.
50 Which of the following statements is true?
(A) Passengers take motorboats into the grotto. (B) The grotto has become famous since the 18th century.

(© There are two openings to the grotto. (D) The grotto was open to the public in Roman times.
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¥ %+ (Boolean Operator) 2. 7&§%:& & ( Short-Circuit Evaluation) ?
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Rt CHEFS &rlﬁ}f@“’#ﬁ‘\s\ '—’4:5- ERLIEY o (84)
o~ BT PRIk Slcee i S NEER o (20 4)
int fact(lnt n)
{
inti, result=1
for (i =1; i <=n; i=i+l)

result = result * i;
return result;

I~ A2 P BEAeT
for (int i=0; i <=n; i++)
K[i]=0;
for (i=0; i <=n; i++)
for (j=0; j<=n; j++)
KT +=1;
EOFFE PN PR AERgRRE S ? (10 4)

@£ n=8> 8 K[3]% ™ ? (10 4)
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2 73 38 68 45 52
3 43 55 32 67 61
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O RLARG o (48)
QP EFrH LRt sp TRAREEA . (84)
()] #5677 = 41 R B EH S > TREREED o (84)
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(WRET BRLHEHS

(Ol RIS DI TRAF S F:t[ R R L F@J e

~ AEPOFRTRS AR o CPU SEHE IRV R 7 £ s 2

= ?"lﬁff‘g‘ ('main memory ) B #E‘(TEF‘TT%%E' ( program counter )
(c)ﬂF'Jﬂ’*ﬁaJE ( general-purpose registers ) O35k G (secondary memory)

A [0 SR A (adder) FFSHE (shifter) - iy} (R (multiplier) -
PR 1 T R BT SL R <shift:."1<<%ﬁ\>ﬁ$ﬁu‘° EEe Al
RESESTIAN-CNIVE EIPW/IJ[‘%H HIqE?

(8) B=(A<<4)+(A<<3) (B) B=(A<<4)+(A<<3)+(A<<2)+A

© B=(A<<b)-(A<<4) (D) B=(A<<5)+(A<<4)-A

I ERLE - pUR R 35@5[5]': éﬁjﬂ%ﬁeﬂ 10011011 FVE g% fift i puAd 2

(4) 01100010 (B 01100100 © 01100101 (D) 10011100

IR R R YR S 2D

(A) Windows 3.1 (B) Linux (© Sun Solaris D HP-UX

*»H?‘[Fﬁq’%elfﬁ*rﬂ%P 5 Bl = [ T FTJ FRIERVErR A EE Jﬂiﬁlﬁfjﬁffﬁf—ié&f% ?
Fﬁgﬁf [iF%ﬁ B [ © L#J (D)%T‘ﬁ‘\ﬁj Fr

;@?}%i‘ [%EE} (virtual memory ) =ik |1 ’}I?]’%?QEI’?‘H‘ ?V;UEJF—IH [E\?ggg; * RAM f]1 > — HERLE{E 2 pH-
JJF FJ

AT FIERRUEE T (page fault handler ) B R ECE I EEE S (CPU scheduler)
© AR R FF Y (system call handler ) DREHERER S (disk scheduler)

I TR Eﬂj (B 23k (real-time operating system) | ’I"J’if"j (£
(W53 AR Eﬂj‘—ﬁi’i (hard real-time system ) fif{ {43 Ef—??&'ﬁ ( soft real-time system )
B) 7 il PR A oy AR - (process ) P AAVAE - S
©)— HET o ] %:tll ’ﬁﬁ‘ (virtual memory )
(D)f@[itl Eﬁ ﬁ"fﬁﬁ]ﬂ*j A% (time-sharing system ) BZi5H
U i 0t CPU RS S I 1% + 4 5 P 57 TP~ P2 %P3 » H1{{ A
(Pl) fﬂl_EﬁFéF B 3 2Z2FF (ms) iﬂmﬁ?ﬁ'ﬁ 5% 11 =5 (ms) s LT (PZ) T[JI_EJT HED 10 =2FF (ms) ~
ED*IFEIE 8% 19 &) (ms) - A= (P3) ?Ua‘éﬁ\ﬂﬁéﬂ% 0 & (ms) ~ %#n(’:fﬁﬁf'sﬂ?.\"b 5 2F) (ms) - ﬁ%ﬁﬁLﬂ&fﬁ
SR = TR SR R 2

(A) 2.67 =FF (ms) B) 3.33 &=F) (ms) © 7 %% (ms) (D) 14.33 Z2F} (ms)
73 (time-sharing ) F*J?rﬂﬁml' » &~ [WAE (process) v BT [V T REETRT S > IR0 K
4 MBI B P AR T A BB 3L Cprocess control block ) EZEA%'%E’?}L 2t
] PR S 2

WA (IR (process identifier ) ®HAiE (process state )

OMA-F8rds (program counter ) (DA ’ﬁﬁ E?*] fiil (process waiting time )
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J‘I*TVWE“ ( grayscale) R (color) [iH st s ygﬁﬁo
(At E’Wﬁ“lﬁfﬂ* ' §r«< 256 et IR > — (kR
(B)f‘}«]KthﬁIH H[J lﬁl%‘ilﬂﬂ lx%‘—j} -PLIIE[J?‘L@
SR B T - lfFJsL b
<D}I‘—“] ol Q%‘ﬂ” ﬁ}zﬁw g quw U gf SIS
I

W*I%m B EPRIE PR T - FRE O P9
)fﬁjm (backup) (B)F [.ﬁ[pl@ (failure recovery )
©=d| (index) D& (lock)

T E%JE‘%?“E‘HS[’?‘] (relational database ) f[1F|—~ '[”%E‘Puli‘rstudents » El H[_La‘&[ﬂj (E g% id 711 name FEIERES 4 py
SERFFIIE ¢ > 2 id RL= 67 (primary key) > I SQU AF 4 1y g e AAT I SRpuSE 2 ik
(4) SELECT count(*) FROM students GROUP Y name;
(B) SELECT id FROM students WHERE name IS NULL,;
(© SELECT count(id) FROM students;
(D) SELECT count(distinct name) FROM students;
- [+ (queue) {&F-{=enqueue(A), enqueue(B), enqueue(C), dequeue(), dequeue(), enqueue(D), dequeue(),
dequeue() > Fl FrpU7% dequeue()fivadiN AT E {2
A ABCD B®BCBDA ©CBAD ®ABDC
2 F‘EJFEI«' I (stack ) W JI Cqueue) p YR JI’@IL l[ F]q%ﬁ‘}ﬁ#ﬁg;p@yﬁ 73 Hﬂﬁ&?‘* *’jﬁ‘jp UHEA S [
I & it {3 e g FSIJ}”EF" pr J*lJlﬁrl%F’?ﬁ@ﬁu%é:%lWr A= ‘fjlrpe J*#Wum
HIEEES (3 2 (B o > S o (s H“@'W%h
(A) S A o) /Hﬁﬂ%ﬁiﬁﬁﬁ1ﬁ+§ggﬁ ,Frﬂ %f’#t@*kﬂ LR
IR (T AR ) T AL
C) HE: i LLl'[, J‘r@  FFYIfE BT fﬁiﬁﬁ[ﬁx I’[*{%Eﬂ‘ﬁpﬁ
ik J F,M@EW’J - /Uﬁiﬁ s%%m T » BT e (R (R RS
?JF‘E%iél (stack) V#s%
LT e o] A sy T — ﬂ il = E‘Hﬁl@ﬁ:ﬁ“ﬁ‘ﬂ iy - *F'ﬁ i ,rJ, e
ﬁlf[[gmaﬂﬁ R 48] (datatype) T ‘U\ﬁ'[ﬁj (BRI Vjc'l*%:rﬁﬁ'm o J\J M EAH]
;ii ,{1_ FpALE i (first-in-last-out ) ‘IftWEIfJE‘HS]%ﬁ
i%ﬁfﬁlﬁhuﬁfﬂﬂ“ UM R T T L0 S I 2 SR R
( Address )
Gy LA = {7 5] Carray ) %ﬁ;‘atﬂl, J1l Clinked list) % Ew[v[“:ﬂ%
E'HﬂK Bl é‘f’?"fﬁllﬂ ?ﬁi—’%’?

D

‘ﬁE ‘ﬁE B e ‘ﬁi
[m"“m

@@@@5&33

WO@1E » OFHFH BOOLE  ®F W\ CO®1IE (D@@é?ﬁ?i
WT/[JﬂB— FEERR] R ,7Fﬁ (data structure ) $i ’? 8 BAEs (breadth first search ) -3~ f[ﬁ‘ﬁ%‘ﬂ% (graph) ?
NE 7 (set) (B)f]lﬁlj (list) ©1teA (stack) O #3] (queue )
ri %J w#ﬁ(binary tree) e S | 45{3{!#5&; ; (root node) - ¥;~ﬂ‘¢é§f¥#,’u|~~ gﬁgﬁx Fumglgf
Vs

EE x ﬂ%&@ Rk ﬁfiﬁﬂmﬁ % Y E J ﬁﬁﬂ/ﬁ ﬁ%“ﬁ ML 225 |ﬁ§“&[ﬁrﬁ9gu
%ﬁ [ﬁ EB{fr 2
A7 B 8 © 15 (D) 225
Er}“}ﬁ@?ﬁ#’ (shortest path ) ijui’\q%‘ﬂﬁ& (graph) “ﬂf uﬁ PLTR | V= o ') b5 | RHES IR 2
”I/wﬁifﬁ 1> FBva = vg Vﬁ@“‘ ﬁfi_]E[IVA"*Vc,\_/EIfIIﬂ%—IV *VB,J/E'?,uﬁ’ Aoy o HIIF VA = ve
B P v g VB F157 Bl s
@*' E”qa”l :H% G Fllaﬁrﬁﬁﬁj}i’ﬁl”’ s HII G I AT Ay AL (edge) H = El?ﬁ EG 0
%lﬁ/ﬁh}ﬁ G Hl ’ H‘ rj* EJ“]%E’*&GAB ;LE:_}% F |VA1:_“"_:t Vg’ EIH €aB H’?%!TVAT VB ¥I/ﬁf§}?§lff
1“'[ G ELEplf™ (undirected graph) aidite > [l G (17 FIRf va = v /3L HEE 2 1 ve = ’/ﬁﬁf@”é‘, i
®F, VA%_I ve ELIRPAdHE G 7 %“ HIELR G 7 % 554 (spanning tree) 1> cuﬁ VaE Vg VR EINE
%I_L iﬁﬁ AV
(D@rpE @B% lui BO@I i @@%ﬁn{ (C>®@§?§u§ii DAL
D“'[[ﬂpuiﬂ 7v (strongly connected components ) pqu&ﬁ\lflr’{[‘ (ETfIsg i o H LR T B s
aEa"\l ?ﬂ fegtt ?
(A)j F"fc'if@ , %éjfjﬂ“w[ﬂ’ug’_lgﬁhw (B)ﬂ"iiﬁf_ﬁﬁfﬁ ey p—
§Fu§_ﬂ]§ﬁ'7‘b (EEerp— Dﬁ%ﬁ"?}' FLE| |[4§F{;LE_,‘EJ[1EJ'FHM
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1 4-3
o Hp- @#Eﬁﬁiﬁiﬁ T P (average case ) F‘Ljﬁﬂjf bR, Fs‘zﬁ ?
O PHEEET- (quick sort) ®) ¢ (HEET- (merge sort)
© 3w #ET- (bubble sort ) ﬁéﬁ#lﬁ (heap sort )

TR P AR A 35 Chashing) o3 Wﬁ@ﬁ? z”ﬁlelikﬂl Cindex ) &) e pug |3 ] -

fp] Coucket) o & [p]F* 1) & B0 1 STevi] o RN RLFESEADE R e - [ﬁ“"ﬁﬁﬂﬁﬁ fli }Hﬁéff
i Coverflow) e JzERy - )] ﬂJF' il (chain) U= S devpy - E'}’f‘,’r‘F]HIe}ﬂn IMESLRRERE:
Ejﬁi‘fﬁﬁﬁflﬁiﬁ;% (long overflow chalns) BRIS}'”S‘*Hb  EFRE

ﬁﬁﬁté@é ('static hashing ) ®RELEBEH] (linear probing)
O {FE= (extendible hashing ) OFHI#4% (closed hashing)

[j C++p\/ Java FH=VE lf[H' ) PE' r*ﬂ*? 2= (function overriding) ; ?

VR I Al Rt TR R r(parameter) (BT IRl PR EERIN (type) Tl
® % il EFEAOFRES - (Yt - = = eI
© %fﬁﬁl* ﬁ?ﬁpﬁﬁ‘[:\‘v; el reEssia EIWIE ﬁf* TE'53 FET}T’\ﬁlF@%HH( base class ) & £l i+ %H[|( derived class )
O 2 {7 {fl 1T EaRE 3 g Rl H’Fﬁ [fil > {F! 53 T FLRES > B 1 R
*7wr&acﬁ&owﬁr%ﬁﬁmwuﬂﬁﬁﬁ“guqﬁaﬁ?
() if x<0 then x=x+1 else x=x-1; B if x<0 then x=x+1; else x=x-1;
© if (x<0) x=x+1 else x=x-1, D) if (x<0) x=x+1; else x=x-1;
T CREAE - I H T
#include <stdio.h>
#include <iostream>
main()
{

inta, b;

scanf("%d, %d", &a, &b);

printf("%d, %d\n", a, b);

system("PAUSE");

}
AF i PRI 13 25 0 i 14 13 25 B)F i F I Hr13 25 0 HIfEHG 13, 25
(c i’ﬁ |ﬁﬂ‘§r13 25 - Ellj‘p‘I?H',tJ 13,25 OF iy * [ 13, 25 - E'[Jﬁ?“'ﬁ 1325
gEEE # Sl Eﬁomﬁ:m short Uiyl ffo il £7-32768 % 32767 « $h ) Il C T F Al
% f uﬁ_?“ FB 2

short alnt = 32767;
printf("%d ", aint);
alnt=alnt + 1;
printf("%d ", aint);
alnt=alnt + 1;
printf("%d", alnt);
(A) 32767 32768 32769 B 3276701 (© 32767 -32768 -32767 (D) 32767 -32767 -32766
ﬁ[«l—‘j\;j“ CH DHF |1‘E 5 VX@ & E Jﬁ?f[ﬂtulﬁ' ?
#include <stdio.h>
main() {
inta=2,b=5;
a*=a--*--b;
printf("%d\n", a);
¥
® 4 B 8 © 15 D 19
BRG] CJY CH
int f(int n) {return n==0? 1: n%10*f(n/10); }
FII £(2345)p fifi £ [p
® 12 B 120 ©) 185 (D) 2345
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BTN AY C R RN 17U£srf_|m§{ PE?
void p(short a,lo gg*b)
void main(void)

{
short x=10;
long y=999;
p(x+20,&y);
¥
Iy g BPp Iy ol
pR=t R, }I” X FILJI'@EW@ DL p ﬁ’[gc}i‘?’ it x EILJ fib gt~
r?t? I 5'?. P S0 IATRG P MEabg= T [ ORI E o] S R R | A LI ?
W& ﬁm? ( oncentrator) B & Tvgl!_ (hubJ ! (Cj)“f?z\ (switch) VTT?E‘E“E%E (router)

Wf/[J fg& ﬁz’@‘tﬁﬂ”ﬂﬁffw@%lﬁﬁu (Carrier Sense Multiple Access/Collision Detection ) fY#55 » ff %Ea' 9
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1 Computers are __ to most businesses. In other words, most businesses can not be operated without computers.

@A) initial (B) indispensable © innovative (D) disruptive

2 1 don’t know why you can’t get along with your twin sister. | thought twins should be very __ with each other.
(A) compatible (B) competitive (©) compressed (D) confused

3 With no transportation __, I have to go to school on foot every day.
() foldable B invisible (©) portable (D) available

4 Heisa__ figure in the art world. Some think that he is a genius, while others look on him as a lunatic who just
puts different elements together.

(A) bureaucratic (B) controversial (© sentimental (D) vicious
5 Jane invested in stocks and shares, thinking they were going to be __; unfortunately, she lost all her savings.
(A) massive B frugal (©) wasteful (D) profitable

6 The problem of global warming has become more and more serious. That is why we have to put the issue of
environmental protection back on our ___

(A) agenda (B) alternative (©) anecdote (D) assembly

7 Jim’s talent makes him ___, and he turns his nose up at others’ achievements.
(A) submissive (B) extravagant (©) supportive (D) arrogant

8 Assheisallergic to __ materials, she has to buy clothes made of cotton and linen.
(A) synthetic (B) sympathetic (©) systematic (D) simplistic

9 The sales of cigarettes have dropped and the number of smokers has ___in Taiwan recently.
(A) degenerated (B) condensed (©) decreased (D) subsided

10 One of the greatest concerns of the government is the abrupt rise of the unemployment rate, which might imply

economic
(A) recessions (B) reactions (©) reservations (D) recreations

11  Youdidn’t do your homework. | want to hear your ___

(A) expectation (B) explanation ©) revolution (D) evolution
12 Some people go to fortune-tellers, while others use playing cards to try to ___ their future.

(A) predict (B) forget ©) pursue (D) remember
13 The mayor decided to ___a cellphone etiquette campaign to advocate the proper use of cellphones.

(A) constitute (B launch (©) overcome (D) violate

14 Mary has ___in bed since last week.

@A) lay B) lied ©) laid (D lain
15 Billyisasmartand __ secretary. He never wastes his time on trifles.
) fluent B affluent ©) efficient (D) sufficient

16 Coming out of the doctor’s office, the lady approached her husband and ___in his ear, “I’m pregnant.”
(A) commanded (B) whispered (©) splashed (D) quarreled
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P 14-2
Fathers and sons have a long history of disagreeing on many subjects, _ when the sons are teenagers.
(A reluctantly (B) occasionally (©) particularly (D) fortunately
In some department stores, there is a place where you can ___ yourself by playing video games.
(A) erase (B) behave © support (D) entertain

The company’s work schedule is __; its employees can choose to work in the morning or in the afternoon.

(A) colorful B flexible ©) punctual (D) professional

This vacuum cleaner won’t work if itisn’t __in.

(A) given (B) soaked ©) plugged (D) connected

The Sydney Opera House, with its gleaming white sails breathtaking against the backdrop of the harbor, is the most
___icon of the city.

) eligible (B reversible (©) expressible (D) recognizable
Every candidate in an election needs a catchy campaign ___ to attract voters’ attention.

(A) schedule B slogan (©) budget (D) partner
After taking a short break, the presenter took a drink from his cup and ___ his talk.

) resolved (B) presumed (©) preceded (D) resumed

Four employees were absent today. One was sick, another took her maternity leave, and ___ were on a business trip.
(A) another (B) the others ©) others (D) the other
He burned the candle at both ends __ his already fragile health. Finally, he breathed his last breath with his goal

achieved.

(A) in terms of (B) by means of (©) at the expense of (D) in consideration of

I __ to contact a friend living in Hualien for the past few days, but I still cannot reach him.

(A) had tried (B) have been trying (© had been trying (D) tried

The church, ___ in a war, was never rebuilt.

() destroyed (B) destroying (©) that had destroyed (D) which destroyed
Since my opinion is ___ yours, why not ask another person to judge whose is better?

(A) depending on B in conflict with (©) in comparison with (D) in touch with

The outstanding performance of the two world-class ballerinas was truly ___. They won thunderous applause.
(A) a feast for the eyes (B) a thorn in the flesh © a pearl in the palm (D) a pie in the sky
George was very angry because his girlfriend __. He waited for her in the rain for over an hour before leaving.
(A) fixed him up (B) stood him up (©) made up with him (D) went steady with him
At the annual party, the Chief Executive Officer ___three department supervisors and named them Leaders of the
Year.

(A) left out (B) knocked over (©) singled out (D) took over

Don’t ask me. I just have no idea about __.

(A) whose car is this (B) whose car this is (© this is whose car (D) whose this car is
How many of us would do the same thing ___?

(A) supposed the chance gives us (B) only we were given the chance

(©) if given the chance (D) by the chance given us

They promised to finish the work on time and ___

() so have they (B) so they did (©) so they have done (D) so they had done
__, he simply found a way to discard it and avoid it entirely.

(A) He was unable to solve the problem (B) Was unable to solve the problem

—_

C) Be unable to solve the problem (D) Unable to solve the problem
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36 Boss: You look run-down.
Staff: | caught a bad cold last week. __
Boss: Well, do you want to take sick leave?
Staff: | guess so. Even though | seem to be over the worst of it.
Boss: Don’t give the bug to anyone in the office.
(A) Where are you leaving? (B) Running makes me tired.
(© Don’t look down upon that man! (D) I’ve been feeling under the weather.
37 Joan: I’ve heard a lot about you recently. People say you designed a flawless project for your company.
Bob: Well, __. My coworkers gave me lots of wonderful advice.
Joan: You are so humble!
(A) you beat me (B) search me © I’m flattered (D) by all means
38 Wendy: What are you doing, Jenny?
Jenny: Just surfing the Net. Did you know Levi’s originally made jeans for workers?
Wendy: __ You mean the jeans we’re wearing now?

A) Really? (B) Needless to say. © You are telling me. (D) No sweat.
39 Lilly: Poor Paul. He’s been swamped with work these days.

Kathy: _ .

Lilly: Certainly. He needs a break to relieve his pressure.

(A) He’d better not take the short cut. (B) No wonder he is always in good shape.

(© He really needs to have some time off. (D) He can’t have his cake and eat it.

40 John: I am so confused. Pat wants to be my roommate.

Mary: That’s good, isn’t it?

John: Yeah, _ . People say that he snores a lot.

Mary: Well, I guess you’ve really got a problem.

(A) but it’s too good to be true (B) but there is something that really bothers me

(©) but everything starts well ends well (D) but there is something that makes me proud
41 Tim: | haven’t seen you for ages.

Tom:

Tim: I wouldn’t have, either, if someone had not mentioned your name.

(A) You haven’t changed very much. B | recognized you at first sight.

© I didn’t recognize you at first. (D) I hardly thought I would miss you so much.
42 Hairstylist: Hi, I am Christine. What can | do for you?

Customer: | want to have a new hairstyle, but | don’t want to change my hair too much.

Hairstylist: __

Customer: That’s a good idea.

(A) OK. I will dye your hair bright green. B Don’t worry. | will use a lot of conditioner.
© I am really good at shaving heads. (D) Then | suggest trimming your hair a little.

43 John: How did your interview go?
Peter: | didn’t do a good job. | was too nervous.
John: ___ Everyone is nervous in an interview.
(A) Too bad. (B) Don’t mention it.
(© Take it easy. (D) You must be kidding.
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A great deal of gender-role socialization takes place in the home. Fathers engage in _44  “rough-housing” play with
their sons than with their daughters, even in infancy. As children grow, boys and girls are encouraged to play with
different types of toys. _45 gender differences are found in toy preferences. In general, boys have less flexibility to play
with “feminine” toys than girls _46 with “masculine” toys. Many studies have demonstrated the influence of
gender-role socialization.

44 (4 the (B) much © more D) very
45 (4 Permissive (B) Impossible (©) Submissive (D) Substantial
46 (4 do (B) are © have (D) can

F%"jﬂ ¥ [FIIFATE'M? =57 50 & -

With cloning technology now available, we will need to consider if cloning is ethically acceptable. For example, is
there any way to prevent the abuses of cloning without blocking beneficial medical and scientific progress? Human
cloning research could bring about substantial health benefits, including the creation of animals with human-compatible
organs for transplantation. Cloning could also be used to help scientists understand how genes are turned on and off,
which could provide important information about the causes of cancer and the mechanism of aging.

Another issue is the use of cloning to treat infertility. Reproductive technology, once considered controversial, is
now accepted by the public. Why not allow a woman who is unable to conceive naturally to clone a child by placing her
own DNA inside of a donor egg?

Yet, what about our sense of identity and ancestry? Imagine giving birth to a clone of yourself—or your mother,
father, or grandfather. Familial relationships could become increasingly complex. How can we prevent sinister
applications of cloning, such as the creation of clones that would serve as slaves or a source of body parts? What effect
will cloning have on theology? Is each human life unique? Would a clone have a soul? Finally, what will happen to
clones that are failed experiments? Will they be disposed of like other experiments that have gone awry? These are just
some of the issues that should be considered before a national policy on cloning is formulated.

47  What does the word “controversial” mean?
(A) Disputable (B) Manageable (©) Plausible (D) Conventional
48  Which of the following statements is NOT an advantage of human cloning mentioned in this passage?
() Human cloning can help scientists understand how genes work.
(B) Human cloning can help improve organ transplantation.
(© Human cloning can help scientists find out how human beings get old.
(D) Human cloning can bring dead people back to life.
49  According to this passage, which of the following is NOT a possible problem caused by human cloning?
(A) Failed human clones may be thrown away.
(B Relationships among family members may be confusing.
©) Infertility will be very common.
(D) Human clones may be used as a source of body parts.
50  Which of the following statements best states the main idea of the passage?
(&) Human cloning research can improve reproductive technology and thus help infertile couples have kids.
(B) With so many possible ethical problems, we should think twice before setting up a national policy on cloning.
(© The way to prevent the abuses of cloning may hinder beneficial medical and scientific progress.
(D) Human cloning research should be stopped because it is not ethically acceptable.
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g 120230 - B

FA I, |82 101F RE F fou b A p fiE g4 ZREE

A aj:m-ﬂ&ézzwﬁwé
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e @'L) SR RS PEMBERABYBREME

# Bl ARNT 2 R | Lend RS RERS SR
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O3 3R> (FEPFFHRATAELE FRERIEA B AR o WAL FEY > 2334 .

- s T A CAE5Y 0 U3 3 %y £ 4t (variable declaration statements) : (16 4 )

|

i

X1

OFIP AAB - C Dz 47 41r’v’ﬂfi§_ ¥ 0w B % #ic (visible variable) -
Oig ¥ L F#cs B MRt g4 ?

void example(void) {
intu,v, w; /*declaration 1 */

while (....) {
int v, w, X; /* declaration 2 */
..... [* <=== A*/
while (....) {
intw, X, y; /* declaration 3 */
..... [*<===B */
}
..... [* <===C */
}
..... [* <===D */

(—) C++7&;\;%“ POBRF - 38 M HERR 2 ﬁmu £ (lowest subscrlpt)

uoa L1~ L2 L3 ﬁxrs# 1 (highest subscrlpt) AN H1 H2-H3- & 3
9‘!""‘ (i,j, k) 2 Pé%:’!?m,;ﬁ’»m}\o (10/)7\)
(O)% # & FORTRAN %m\;% =L HERSMAR L2 (104)

WREP T 2 32 2 % P gz en (ambiguous) o (16 A )
<statement> - <assignment>

<assignment> - <assignment> + <assignment> | <identifier>
<identifier> > x |y |z

AR 3 ;#;; Java ¥ 4rie 4 f#3c (Deallocate) — B4 i+ (Object) ? »tpt 3t it e
WARF P A2 PR ? e R0 (16 4 )

WP CH+42583F 2 ¢ ¢t &2 (Exception Handling) =~ try construct - (16 4 )

SRR L (FOLALAA X 164)

()% 478 (Shallow bmdmg)

@i+~ (Byte code)

(=)Ex®s 4% (Activation record )

@ # i 38 4 55 . (Heap-dynamic variable )
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SR E R AR VAP
IS Sy S L s U A N 1?%% RS

2 .;fv‘ &4 %‘1‘ 3] t _;LEJE
1 j\z]H /%Fﬂéﬁlﬁiﬁﬁ EJ_%T4. , IH ?F LQFF—:(? iyp‘j%ﬁ%:%‘ig é’])’ﬁ‘%ﬂg)ﬁ .
p el ' S EEME CMHEREE A S
(A) R i_lj:llE ”ﬁ%fﬁ&[ﬁﬁ,]ﬁ”ﬁ| Ene ilr[biélﬁi = N
~ = S5 AT B PR
(Bt ﬁj&ﬁm ’ lij i h Line@& 3% : @gaofeng
© Hdﬁ/\ﬁj\ﬁfﬂ ) r'ﬂﬁ i_rj;ﬁﬂ]%ﬁ& [LgiREne Fl |Jlé<_j’rl3ﬂ7;[f[}ﬁ—3@ @é&*:@b 07-936-7296
(DI - ﬁ'iT BT hojE

2 N[IE dl:- A (process)}-{kﬁhﬁléSH I %{ﬁﬁ?—l‘?
D)~ [lEAE B fork () =HEE T ready SHNE
Bwaiting [[1fVA-REHL TR (wake up)  iHiEE * ready ;<
©ready [l 1A - F2TH N X FE T waiting Jf4E
(Dready F[1FUAR: > ¥ PLEEH (scheduled) N iFI}{Ji'rEHi}‘:fﬁ’ﬁFHZEVYE‘} running ;i

3 — BeTPERETESIT] 32 ﬂ“w? ) “#- (instruction word) > ?;3‘3&'7’?5‘}* TR S @ Opcode 1 fji -] 8
i > 2 flatE— fght £ r*mp J—’E’Fl“”ﬁ; o r’ﬂ“**ﬁ?[f;ﬁr’* (register address field) > & 1 [ 12 r’ﬂ“'v‘mpfjj' A ET
7v (immdiate operand ) ?”fwé SA ik o F} i3 %FFEI\f (signed ) = A& ETo I &Rl 2
(0)0~1024 (B0~4096 ©)-512~511 (D)-2048~2047

4 32 #6519 PCI RPN " | 33 MHzZ [ wef] - ] = i 2
()33 MBytes/S (B)1132 MBytes/S (©256 MBytes/S (D)1056 MBytes/S

5 [UH] 2 {ESRI="~H (flip-flop) == 3 {lalEtH 7= 55— Eﬁ’ffﬂ?q—%%‘. ('sequential circuit) 7™ q%ﬂ“f[’?—?» » Epl
SR W FINANDRFE Y » A~ BRASPER v > X&A ’7]"%?,@37_‘ b s YA ﬁETL b > SAZERAT
5T '[HSRI*E'EL [/ﬁ]?-x At S RBIJ“%@‘IQ [FSRLJ;F l/ﬁ]?-x T CLK%Lj Eﬁlﬁ Eﬁ)ﬁ"f [

SR A J/Eﬁ T2 (togPen BRI %Eﬁf e ‘H”}%%‘Eﬁf ](set-up time) » thF- Hﬂfﬁﬁﬂj ti(hold
time) ) i/[lﬁK : |_

@{FIJ%E‘ (inverter) : tpe=0.5ns jAC A _|>°:§BC B
T M (XOR)  =2.0 ns FRA Re_prt— B
] (OR) : tpe=1.0 ns CLK —

TR 88 ¢ 1,4=2.0 s, t=1.0 ns, t,=0.25 ns X —>——_ >
wfil fff‘rfﬂjf"}ﬂﬁﬁﬁ“ (X) Z=F§TEC-# (postive clock edge) [ » £ B IR F e 2

A2.0 ns B2.5 ns ©3.0 ns (3.5 ns

6 x=11111111 1001 1100 - y=0000 0000 0110 0100 > x » y £ Rl £ 16 & 7~
complement integer ) > FETf x*y

[k R (two’s

(4)1101 1000 1111 0000¢wo
(©1011 1000 1111 1000¢wo
7 TR R IE Y
(ATCP=* UDP
(BUDP (e e g |
O©TCP W R T FE]ﬂ:
DEY IV ELE S 205 TCP

()1101 1111 0010 0110two
()1101 1100 1111 0000kwo

F1 EbllaaEt ) (connection oriented )
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2202

16-2
l@%ﬁ’ﬁ 4 GHz [ CPU ﬁ%‘ﬁ‘ﬁu CPI (cycles per instruction ) =% 1 o I H5— ﬁgﬁ, ,Jﬂi[ﬁfv:t'lm
’r’é‘ﬁ‘r* TV EER (missrate) £12% " II%‘IEE'ELJG WV[EH]‘ (' main memory access time ) 1. 100 ns > E'[J‘EH
F=pY CPI :ffeﬁf* b2
(4)1.8 B1.2 ©8 D9
T HARAY UNIX 53 ffiH ] ANSI C 5E lw%,ﬁgﬂﬁ%*:f NMNEET { FY SRR (system call) ?
Wread() B®write() ©seek() (Dfork()
(UE I~ 21 (NAND gate) Wb UgEis gy Clatch) Jprs [l - Sl * (a, b) ™ Fllfr 71
TP = o o R - D e a
)(a, b)=(0, 0) Q
®)(a, b)=(0, 1) B
(C)(a, b)=(1, 0) b Q

D (a, b)=(1, 1)

[ RS 1% Cinterrupt) rﬁ Ep PIREF % E“[’.ﬁl/‘?,ﬂﬂ”ﬁf{ ? DISR = E > [Fﬂrgg
FUE process [rUEhi @EF’*FHII FVR v #u= fY process ™ [ r+7FE‘7dEJ execution status @7 Y
ISR @ﬁ,gﬂ! interrupt vector > ZVH ISR i initial address

NOSO) BO®A@D ©02D® D@D

R H'ﬁé‘ﬁs[(x y, z)EI"J parity-generator (P)2! ffi - " J[I{f" FhLE parity-checker (C)[ivT] it
*? (l@%ﬁ*l [y © | 2R C=1)

Three bits Parity bit

X y z P

0 0 0 0

0 0 1 1

0 1 0 1

0 1 1 0

1 0 0 1

1 0 1 0

1 1 0 0

1 1 1 1
(A)C=xyzP (BIC=x+y+z+P CC=xDyDzDBP (D)C=X"yz+Xy’z+xyz’+P
(126.25) g = /" 5 ﬁ‘[ﬁﬂ s BB 2
(A)(176. 2)8 (B)(106.4)s ©(106.2)s (D)(176.4)s

— ™ AR Ay 5 p e =k - SIFPEUEE] 50 [l /O =T+ (requests ) - [[RALI RS HIE~ fii /O
ﬁj‘ﬂp +jE;J:Fg |55 10 ms » [P 2 Ak $5F]H |3 (utilization) EL{F 2
(4)0.25 (0.5 ©0.75 D1
P (WA 48523617 (R SEIIISE- (0r) S PRIIEE A vl S PRE 2 S
FIERHGT SR PR (TS £ 18523647 12583647 -12385647-12345
687... 0 JIT AU IR A £ ufﬁ‘ﬂﬁ 2

A)l_?“}i[é* ii (‘selection sort ) (B)id’fﬂ}?ﬁffﬂiiﬁ (bubble sort)

©4f3 * #EvE (insertion sort) Fﬁ' fHEET (merge sort)
}HHIH‘ EET=Y (infix expression ) © (1+3)*7 fab i A5 ET=0 (prefix expression) & » AN KL 2
(A)1+3*7 B*+137 ©+*137 D) 1+37*

i (B £ BT [ Sk i g P SV I = e f[ﬁ'%iﬁfﬁﬁ'ru YRR T AL 7 %
'“E)\’Tnﬁﬁ [FEEL {2

Wﬁ eﬁﬂ ﬂ'nf'rﬁa ®T Al n By
C)Tﬁlnzi?‘/ i (D THlog n7% [—F=
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A %{ - 2202
:6-3

<_~’\

AR

G-

| IR Gl #5t %ﬁn Y

WGkl 119 ?Eﬁ (Vertices) == 12 376k (Edge) #7513 pjsadi 2E1 |7 (Undirected connected
multigraph )

(B)Gﬂ/?%"(Vertex) flt > FE=KAtEE (Adjacent) [EFZ2K™ T AEhiad (Connected )
©Gafl &7 V& & (Path) féﬁﬁﬂﬁ ©EHIEE % (Simple path) ~ ZHE7HTEE @ (Non-Simple path)
BHE (Cycle) =
DGl 1% 7 B ;%,F(Vertices) A~B - C - Diny Va7 (Connected component)

FE LY S S (Binary tree) 3 [T+ (Inorder traversal) 7 [ G 2
(A DHBESKRLACMFG]
(B DHBSKRELAMFCG]
(©BACDHKELSRMFGJ
(DDHSKRLEBACFMG

SR qa'ﬁfiﬁﬂ%"ﬁﬁﬂ ( Topological order) ?
(A)O 1-2- 4

®0~1-4- 3
©0~4-~2-~3-1
OF ] B TR

3»
2°

«"“EJ%%?’%?% Chash) Fgposs » (&5
(LS FrETRL 1A F B (one-way function )

BETREAOF L PSR > [T 0% LI AR (digest)
CFE=FHEE S (collision) ORI,

(DSHA-1 (Secure Hash Algorithm-1) RUFS Rt I

FSIEF (Quick Sort) FLER P | 5 e ik ) 2

W FIZZHENE (Greedy Algorithm) BEVFEAEZCAE] ( Dynamic Programming )
©[piE (Backtracking ) D) 73 ﬁlﬂF",;V 1% (Divide and Conquer )
F IR A B~ C D~ E Vifith : A=5 > B=1> C=3 D=4 E=2 [l F[i& - (Postfix)
BV e 2

AB-BC+xAB+CD—-x+ABxC—-DE/x—
10 B)6 ©18 O] 72

RGP 5 ) S PRIEOREE - R PR (Sequential Search) T AL ARSI
X [ > [ l;;;fr 12~21 34~ 43~ 56 ~ 65 - [WRE i - SREAH N o I JIFERL DY 2
(A)x>56 (BIX<65 ©)x=65 D)x>65



P« ’%fi . 2202

16-4
25 J‘ u[ |% LHFgﬁh'jﬁkE[l%i ’ %%‘ LLI"%%\[’[E{E‘J%?
for (i = 5|>0||1)
printf("*") ;
K4 (B)5 ©6 D7

26 NIN) CAHFEE LY AT AP ?
#include <stdio. h>
int x = 50;
int foo()
{
X +=20;
return x;
}
int main()
{
printf("%d", x);
return O;
}
(450 (B)70 ©0 (D) PRI 2 R SR
27 BT CRFA 0 A % TR ?
#include <std|o h>
void swap (int a, int b) {

intt=a;
a=b;
b=t;
}
main() {
intx =1, y=2;
swap(x, y);
printf("%d, %d\n", X, y);
}
1,2 B2,1 ©1,1 D2, 2

28 #FENYICF ik FHF T AL ?
#include <std|o h>
intx=0;
main() {
inty = 25;
if(y>15) {
intx =5;
X +=y;
}
printf("%d\n", x);

W0 (8125
©30 VIR 1% F SRR » 2
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29 4 Tij‘ 4 C ul:| r [%QK‘HFQE Jﬁﬂﬂq‘ I'F?‘ﬂjﬁio

30

31

O FP, U FEP,
if(x<y){ if (x<y){
m=g; if(y>2){
Yelseif (y>2){ m=Db;
m=Db; }else {
} else { m=a;
m=c; }
} }else {
m=c
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(B) ot P proseh 7 A} i’%ﬂﬁ IRl TR R P AL A 5 2 AR
IR ST IAAE ToIS » (R P (AR5 P o= Al ok = Al
(D) i)l =0 b "Jﬂ’ﬁfﬂﬁ*ﬂﬁ\ [fil > = P A PR PR S E l"%f?f TAHIR
o CH++Y Java AR ”F‘f' Pl N3 s pe I = %] (subclass ) 7 2V < il (superclass) [l
Fug}y[e['?/; (data member) ;| ?
(A)?s.f,ﬁ KR e Rl 55 ghFﬁé’g(f’,’?} protected ;¥ public
(B)?.f,’@ KRR pre o] 7y Eh’?ﬁé';h’f /7% private § protected
©F U H < I eyl YR E, 55 public
O EVRI I R
I C AR L HHO@OD o R B RER 9 13
1014 °
#include <stdio.h>
int main()
{
int arr[4][4], i, j, v =0;
for (i=0; i<4; i+=1)
for (j=0; j<4; j+=1)
arr[i]j] = v++;
for (i=D); i<®@); i+=1)
for (j=Q); j<@); j+=1)
printf("%d", arr[j][i]);
return O;
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N pFERE R AF] (digital watermark ) ﬁ’T{EZI’FLtIF"IEWE" I ﬁ R & S 10 (R
1A 3 20 e 2
WE$F7<H] (private watermark ) B 7 #37 7I<Ff] (semi-blind watermark )
SYBENEAHT (public watermark ) (D) T EFEF 7<Ff] (asymmetric watermark )
?Jf'ﬁﬂ%ﬁfﬁA *B~C-D~E> PIF|~ W& B (Switch) SI'J R~ W& (Hub) H > S== H ¥ -
A~B ¥ CHFN S D BN H o B7E UM F ALY | Ethernet (IEEE 802.3) fid: - (52
2 B PO I T RS T R AT » B A IR RS D
PRI O o 2
AD ®D -~ E ©C-D-E OB~C-D-E
*'ﬁ%‘&u '] Huffman ighgﬁii\’* R IpEr s D9 A L1555 [ijFB 8 %~ [PRC A
* F{BED IR 85 % FME I 5 ¥ ] - SR & YA S C o D TR ) % b
b5 (bit) k- ?
A2~3-~2 ®2-4-1 ©3~4-~2 m3+3-1
i@%’“’ﬁ - f[”%’rr'\*@@#ﬁﬁ‘ﬂ © 640%480 sk /EH 71~ 16 fF 7~ /firsk ~ 16 1A o %F} IESEA P g
Cbuffer) SEEV ™ - TR RRHPRAT  £ (F IGREEE e I D18 ¢ Do ?
(4)25 Mbps (850 Mbps ©75 Mbps (D)lOO Mbps
IR T R %ﬁ?jﬂﬂﬁ" REN
(A)Onetime Pad
(BIRSA (Rivist, Shamir, Adleman) system
(©ECC (Elliptic Curve Cryptography)
(D)Triple DES (Triple Data Encryption Standard)
IR A 0 SQL ARy
SELECT [DISTINCT] select-list
FROM from-list
WHERE qualification
A 1Y FROM =7 ) > ELZppe TEIFJ i Relational database F[ 1[IV (P FEE T 2
(A)Select operation (B)Cartesian product operation
(©Project operation (D)Rename operation
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Those angry peasants held a sit-in make their protests against the new policy.

(A) so as to (B) with a view to (© according to (D) owing to
The MRT system has greatly _ this area; | can’t even recognize the location of my old school.
(A) captured (B) situated (©) succeeded (D) transformed
Lindaisan __ friend of mine; there is no secret between us, and we always share our happiness and sorrow.
(A) intimate (B) intermediate ©) internal (D) intense

Do not forget your ticket! Only ticket-holders willbe _ to the concert.

(A) submitted (B) admitted (© committed (D) transmitted
The main thing that makes mobile phones _ harmful is radiation.

(A) politely (B) privately (©) passively (D) potentially
The deadline is Friday, so we had better __ the report as soon as possible.

(A) hand in (B) put out ©) drop by (D) look up

Since the typhoon, the basement has been filled with water. We have to it as soon as possible. Otherwise,

waterborne diseases might spread.

(A) reserve (B) drain ©) drift (D) resist
It is reported that there’s tension between the refugees and the local population in Pakistan.
(A) terminal (B) trembling ©) timid (D) tremendous

You should live within your income. Otherwise, you won’t be able to earn enough money to
(A) break the ice (B) cut corners © hunt for bargains (D) make ends meet

Our teacher always tells us that knowledge should be through years, not gained in one day.

(A) accumulated (B) confronted © manipulated (D) stimulated

My sister knows many passages from Shakespeare _; she can memorize the details of his plays.

(A) asarule (B) by heart © invain (D) on purpose

As he had grown up in the country, hewasnot __ to the fast pace of the city life when he first moved to Taipei.
(A) accustomed (B) addicted (© amiable (D) ambitious

The police have suspected him of involvement in the suicide bombing but there is no evidence to arrest him.
(A) elastic (B) capable © multiple (D) sufficient

Sherlock Holmes _ smoke in the air and assumed the killer had not left for too long.

(A) detected (B) protected (©) deterred (D) defined

The president’s reckless actions have _ his country into a disaster.

A resumed B plunged © persuaded (D) restored
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The president of the United States can only serve two
(A) semesters (B) decades
When the orange trees

(A) blossom (B) wither

Many people want to do some sports, but there are not enough

(A) faculties (B) factories
Library users will be fined for returning books after the

() client (B) due

According to our justice system, the suspect will be considered

(A) afflicted (B) harmful
The label on the canned pork says this product is

(A) displayed (B) criticized

Modern people tend to value material enjoyment too much and ignore

(B) feeble
After many years of moving, Daniel finally found a

(A) spiritual
(A) permanent B) fragile

The police arrested the suspect, but in the absence of
(A) patience (B allowance

He hurt his leg while climbing the mountain;
money for the poor.
(A) undoubtedly

The farmer put a lot of

(B consequently

(A) promotion B fertilizer

The government should take measures to control the growing

(4 inflation (B innovation

Before you fly, please be sure to read the list of items

bring any of these items to the security checkpoints.
(B prohibited
The audience enthusiastically

(A) protected

(A) complimented (B) complemented

i 52 5401
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of four years each.

, there is a sweet fragrance in the air.

(©) periods (D) terms
©) drop (D) sprout
in the city.
(©) fortresses (D) facilities
date.
© fare (D) loan

until proven guilty.
(©) innocent (D) lucrative
to be free of preservatives.

(D) illustrated

pursuit.

(©) guaranteed

©) unilateral (D) worldly
home in the Dublin suburbs.

(© mutual (D) drastic

he was set free soon.

(© evidence (D) presence

, he would have participated in the charity event to raise

(© nevertheless (D) otherwise

on his rice field, hoping that the crops may flourish.

(©) detergent (D) stimulation

. Food prices have gone up sharply recently.
© institution (D) implication

from being carried onto the plane. You must not

(©) prescribed (D) prosecuted

the pianist on her amazing performance.

(©) completed (D) comprised

I can’t ride my bicycle there isn’t any air in one of the tires.

(A) despite (B) although (©) because (D) unless
the cockroach when she screamed and stomped her feet furiously.

(A) No sooner had Jenny seen (B) As soon as Jenny saw

(© On Jenny’s seeing (D) Jenny had hardly seen

There are elegant shops on side of the street.

A any (B) both © either (D) every

Could you please tellme 2

(A) where the concert will take place
(© why are otters suitable to live in the water

Although the farmers had to work in the mud, they were all pleased,

(A) saying (B) say

(B) when was soccer first played
(D) what can | do to help conserve water
the rain had come in the nick of time.

©) said (D) to say
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35 Heis avery conscientious professor. Never _ he let his students leave his classes earlier.
A is (B) ever © less O will
36 It didn’t take us long to get here because there _ traffic.
(A) was few (B was little © had few (D) had little
37 Among the things that money cannotbuy _ good health in the mind and body.
A is (B has © are (D) have

Color is used symbolically in all cultures and it plays an important role in ceremonies and festivities. Yellow is a
symbol of luck in Peru and it can be seen just about everywhere during New Year celebrations—in flowers, clothing, and
decorations. Some Peruvians say, “ 38 around you, the luckier you will be in the new year.” Yellow is also an important
color to the Vietnamese, who use it at weddings and also on their flag, _39 it represents courage, victory, and sacrifice.
In many cultures, white symbolizes purity, which is _40 brides often wear white wedding gowns. Black, _41 ,
symbolizes death, and it is often the color people wear to funerals.

38 (A The more yellow you have (B) The more you have yellow
© You have more yellow (D) You have the most yellow
39 (A which (B) where ©) that (D) when
40 (4 how (B) that © what (D) why
41 (4 on the other hand (B) for example ©) as a result (D) not to mention

42 Man: I’d like one ticket to Cambridge.

Clerk: The train leaves in just a few minutes.

Man: | have to wait for my friend. When is the next train, then?
(4) You’d better hurry. (B In a minute. (©) Sooner or later. (D) You have my word.

43 Patty: Do you like to play baseball?

Alice: , but I like to watch the Yankees play.
Patty: Me too.
(A) For sure (B) At any rate (© Nothing doing (D) Not really

44 Ben: Would you help me with my homework if | give you my baseball cards?

Jim:

Ben: OK. Let’s start now.
(A) It depends. (B It’s a deal. ©) It doesn’t matter. (D) It’s out of the question.

45  A: Good afternoon, ma’am.

B: No. Can you help me, please?
A: Yes, ma’am. What are you looking for?

B: I’d like to buy a purse.
(A) What can I do for you? (B) Have you been waited on?

(©) Are you waiting for me? (D) Would you like anything else?
46 Husband: Let’s see a movie tonight.
Wife: What do you want to see?

Husband: Just check in the newspaper.
(A) You must have bored yourself. (B) Are you going bananas?

© I don’t even know what’s on. (D) Did our TV break down again?



5 5401
F=x :4-4

As you are gathering love letters from your admirers this Valentine’s Day, wouldn’t it be nice to know if that special
sweetie is Mr. or Ms. Right? While it’s not scientific, Graphology—also called handwriting analysis—can provide useful
clues about your admirer’s personality.

Ideally, handwriting analysis should be performed on an unlined page of original writing. When studying a sample,
the first characteristic a graphologist considers is the writer’s use of space.

Take the margins for example. The right symbolizes the future and the left represents the past—even in cultures
whose writing moves from right to left. In graphology, leaving a narrow right margin suggests a risk-taking person who is
unafraid of the future, whereas leaving a narrow left margin implies someone very tied to the past, even fearful of moving on.

The space between lines represents the distance the writer places between himself—or herself—and others. Thus,
people who leave relatively little space between words require others’ company while those who leave more space may be
hard to get close to. People who leave little space between lines need to get involved: they tend to be big “joiners,” and
may get bogged down in the details of a situation. By contrast, writers who leave more space between lines are usually
independent and better at grasping the “big picture.”

While these are generally accepted concepts of graphology, no single characteristic in writing is significant by itself.

You have to look at handwriting in context.

47  What does the phrase “bogged down” mean in the fourth paragraph?

(A) Involved rationally (B) Became excited © Got stuck (D) Engaged positively
48 Based on the article, what kind of people do NOT like things to change?

(A) People who leave a narrow left margin. (B) People who leave a narrow right margin.

(©) People who leave little space between lines. (D) People who leave more space between lines.
49  Which of the following statements is NOT true about graphology?

(A) It focuses much on the writers’ use of space.

(B It should be performed on a photocopied writing.

© It provides hints for deciphering one’s handwriting.

(D) It is applicable to writings that move from right to left.
50 What do people who leave more space between lines like?

(A) They love thrilling adventures. (B) They like to throw big parties.

(©) They are fond of being involved. (D) They enjoy doing things on their own.



Pl AR Y &
100 2734 B RB AP AR TR OB  BEAT BB AR Y3 234 f
TR FRYFRSA I TE FRTFIGRI A E o f YR ME R ETEE
SR AR G

AL REHMHBARFABNREARE

JBp LT HMBEARBREL 4
= 8 R G HE

Line@m& 5% : @gaofeng

gL 07-236-7296

FLP LAl Ee (GRALAEE 1 5400)

o #: 504
_f%ﬂr_ q .

%01 /02030405 0607080910 | 11|12]13 /14 15| |16]17 18|19 20
¢#%/ AD AB|D/ |A B/ D|D/A| B/ AD/A B/ D/A|D B|C

521 12223124125 |26)27 282930 [31|32/33 34|35 |36 373839 40
¢/ C|/A /A C|D | |B|]AB|A]|C||D/ C|A/A D]/ B|/A|A B|D

5L |41 42|43 44|45 |46 |47 48 | 49|50




51 2401 100# =734 B #4864 305 glicr 4 | 3~ 100& 2 5%
Sl AR AR R AR A ﬁ%;’éé&oo& NAEAR B R
P4 R~ 100 Bfd S R R E AR E S A | Y
#2100 WA RV FPEFTEITORAR Y FEFEE

$  uiz MLl TR iy i
ACON RS S
F BB (3 FAREE ~FEEHR) [wswe om0
%”F:SE&F'“ c 1] pF PR
HOLL AR - EAND SREN- B AR B g% TR YA e
(OAFLP £ 504E > £ 4L 2 N 2B A bt VAT R e A (PR 0 A A A
(S)2% 31 L,gw ;‘:;)LB B’ o
1 EIRET188 AL T = BN A RE R "~ 2 bﬁ%%h P ISR B N e R
I'Jé\[ :
W~ 7 [~ B o c>;zﬁ§]i’%'dﬂ' [ (D) g% ™
2 [MEER H'jr » HEEfIE ij[ﬁ)‘“[ﬁﬂi "5 [I* = ﬂ\‘\’ﬁ&l\_J A VI I ERL TR 2
(A)Hl’ﬂ” NI R BYFf 12 2 [ ik R LS B TET (T
OF[ 122 2 s udiﬁfcﬁ,iﬁﬁji? (DYFf 12 [ R R LE ) 3k
3 *7Wﬁﬂ$%§ﬁm?m~%%ﬁﬁmh?
INELS B BE] O D) 5§
4 *7IJ (it BRI, 57 142 A NS Hrhg Tk 2
(NN M ®?ﬂWT ©e¥ A FIEE AR @3%%@$ﬂ§¢

S [IFIAIR IR PR 5 479 BEFERY » Lk b M RHI 7R SR TS P R EsiliEd RaF
B i AR 2

(A 72 Al (B -Agh © * F‘% D [E4g
6 l'Z"FIHﬂ?E’*HE&%ﬂ"%‘I492 PR F?frm‘%?gf R S S ;uii Ll [ 2Fide] 2
A% A (B T il O (=i (Dshfgh
7 wﬁ”@«%ﬁkryﬁ SEERE S R W IR0 p) T Bk 2 f%:%ﬁ%ﬁﬂ#v’ﬁ%ﬁﬁj fi J?%ﬁ* ’
i_t'r .
@ %’?ﬁ ® P%’ﬁﬁ ©= LJI%F’ (D) ABFIE] 1 3%

8 F_difﬁu'i‘r%@*E%El@[ﬁﬁ‘%%?E > HP SRR R 2
s s £ &
(B)t'g[a&‘th& aFA =N P&fg&rﬁ
O AR B = EJFéfﬁLﬂj EAE %ﬂ%‘r*&krﬁ
D) £ i PR [ P J%TI?’E‘*F@
9 HJJH@L [:ﬁ E V@*U g I R AR 2
<A>gu=ﬁ' iii‘i e <B)1L§f]'35t e (C)T?’&E%NEWLEU O PP ETE =S R
10 [AFEIE ST 160 R HIE Ejﬁfﬁ ohZ 12 mh Y Sl B s B P VAl e g
ﬁ@ﬂmﬁ%$’fﬂﬂﬁﬂﬁ%§
T 3R SR TR SRR BlAT SR o
<C>’E‘If’ﬁf L H A 2 R
O Fi, B Ay 'uﬂ@nﬂ;ﬁg;rf
11 H?JT%’LE'[J?JFJ%[EM BT S PRI TR FiglE I posE s BV RIS 3 | F] EHE[RIR
F A PO Tk e W@ﬁ?ﬁﬁﬁ DH o PR FTE RIS 2
O FIEREN C EIEVIERED B el TR (f@»%’ﬁ PRED
O3 8 2 (HRU CRSpIE=FTRED O Z7RLH]

)

T A

—

o
r

T‘FI

%‘ﬂ ‘?qi



12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

g L2401

B 4-2
FOEET 11 [ TJJB‘"%F IE“ DI RLEEE (mf[ﬁ[ﬂy—k'%ﬁE[jlf: [’?F%‘ﬂ‘ l/ll:]ﬁll'ﬁillﬁ?
(TR 1 (B) b 1 i ©) & [ (D)l 1 i 2
Wﬂﬁﬁiﬁﬁ%iﬂﬁﬁﬁﬁy N$wﬁﬂ%W%*W%W’E5%HPp%ﬂvﬁwo
Féﬁﬁg[p[ (B A (c)r,%?’f@ (D) il A
REEE AL S TR B2A I B AR > SR S S R R I 2
Eﬁ@ B) % it Ok g (Dffy 2 T
k#®§§¢3$é’mﬂl HI B AR s R AR 2
ﬁﬂﬁﬁw (B ik By ©H R~ DEFET £
(EE S %2ﬁy%%vW%@mm§wmmm IR, % %92
<h2ﬁ1@[ Rt B ARG H
(OF SRl FHFJHJ?E'!]? O Rl
(MR A RIS VAL iR IR ST 2
(W 4T ®FQ*H%E@%J ©= FjBiFd 2 3 () 7 P15 i T
(R4 RRTISIRY VA R I ER i VT 2
ORI ® * 5[l © = PP RS fi 1
(MEGRIETISTEY 2T 9 Rl > 2 O B N IR A Rt 7
W%%@% B H=hF T
Fﬂﬁ%iﬁ%m%Fﬁ @‘ﬁﬁf%ﬁﬁﬁﬂ%ﬁiﬁﬁ
ERIE SR ¥4|$£’Ewﬁ#*5”7”%ﬁﬁ@"*ﬁiﬁﬂ%ﬂ
Hﬂ*#ﬁ*EW%J B EREFR - TR - i
«n I?JVTBHﬁWE[J DI IRIRP S5 Jl R HERehd ]
kﬁm%ﬁ¢W$%’ﬂWWﬁ%%§Wﬁ%§?
2 NE B 1 10T
@ﬁ@ﬁ ’ﬁiﬁﬁmﬁﬁﬁ (D) feb ik e e - £ %%E@
,wﬁﬁh Y3 IR AL WS P R R VIR R TG B ﬁ@ﬁ@méﬁ
AT B (O (D)5 A il
1%% el b pigE Y Sl M IlE R CqE ?
(W B e AR e~ EE = gy (B s e [ ST e~ FL K = iy
«:E%~ <[k e R N R A S g O EFERBESREERIE © FIOR - 5 Y i B
AEFISIEY Ve UET iR g 4 2
%ﬁﬁ%wﬁﬁw @%%%ﬁ%iFﬁV
OO E, A2 PR R [RI R . ARG SRR IR
kﬁmﬁrwﬁﬁivﬁ IR o I
ﬁ Y BRI mmkEwP?%’é“jB#ﬁiL%%
WVﬂﬁ@wmﬁfﬁ@V O AR T IRBER I
TR T 6 R85 B 9 LI Ao
() FG B REF T (ST (B)FG BRI REF 4 e X

OFS B R (N 38 F L AE A E OISR R LS B R S

I B E R A 1 2

<A> S R GIZRERS = s one LINNN Oy R SRl OVFifE Py o 5 i
I B FR AR T R A R A B R ) 2

WA R B gl s 0 2+ RN R

BB 5 = MR > 0 (RS O R R EE L P R

©F )~ EIF - ¥ (VA P PR ARG 155 A =

DRI HE 2R (™ *ﬁﬁ%myEWELNFHHb¢I



R/

29

30

31

32

33

34

35

36

37

38

39

40

2401

B =x :4-3

=

SR S Vv T fjf'\wﬁﬁ A= 0 (% S VR Y

Hﬁ;wj, B [ YLy f‘ 7?%“/‘, ©Of JC%E&FT]*H@M D) [yt }%LJL;'/,%F,H
FIER A5t R L2

(W FEGE 5T 80 [5F) ﬁrifl A IR IT’:ETﬁfU@I%E'

BIEPE RSP IR AP L Fre sl AR 2R

)

)

[
(A%

|l

B e =
—,—|| ._|0 \

=

O FIFBEFEVRRE 5 5 E”jf‘}fﬁ P MRS AR o R T YRR PR JPRE D AR
(D) {9 P 5 "IWF’?% SR it P USSR fl R} = By A]ﬁdi Py AUER - [FRER T D
}udi Tk B R AR I&ﬁu AT TR > ST 'ﬁ%%*lﬁi » PRLELS R ZEVRU IR R 2
Jﬁ[@ J453 3 R NS O Al 55 R () H AR
MEFIEESIEY VPE EJFTJ (SR > N R i ?
)f%HI SHEREGE ST A R R
®Jpl i R R (ST AT S MR
)@w@m«gﬁzmﬁﬁri’ﬁjﬁ%@ﬂ
T AR L RO (ST ’%i[ﬁi«‘%*f?&%
Iiﬁ}ﬂ* = W”Hl BT P J/“%F[J%‘E"“ Jpv 2 pEyIr) =2
WP - ®=5V= ©=3V- o= 3=
mT/lJ Fjgﬁ P PR R Rl R ?
VIR RN B! 71 3 kT ) mlqz[{tﬁgl,pt %
(C>E['|;?F?ﬂ?€,"lff“ﬁ%;'/ G 5 L
S R B?ﬁ’ﬁ?ﬁ’ﬁfll}%ﬁj' e AL
(A)%#ﬁ“,ﬂﬁﬂi B) ﬁJ * Bﬁ’ﬂ?; =~ (C)?"f?]ﬁ‘}ﬁﬁ“,ﬂ:% (D%ﬁ’?fﬁ[ FRER=
*‘XIIJ%%JE?E\JHE F?EJ%’E%@M s fﬁ’ﬂ%?ﬁl?
*ﬁ@ﬁﬁﬁﬁﬂﬁﬁﬁ(%me§ﬁ%@)
EM‘%@A—S@%’T?* |BEE O FEIU}FJ%’E%(E?)
)%ﬁ@@"l;% VREERE R R
<D>Elﬂ‘§:$@%7|§$ ‘/?FH E‘ﬁfér Rl Y A
F"}E} ’Iﬂ%‘“j‘éﬁ&ﬁl 4 wﬁ@ﬁ P S F e AIFTY B o S Sl i i ?
(&) & PRI B e G B A R TR F"%ﬁdf RILES
B) 4@%1‘ ‘E;ﬁiﬁ%nwﬁ@
©F1" é[ﬂf‘ﬁlfr TTHIIHLE) /fﬁ&ﬁl
OFf é[ﬂffﬁlfr 127 [FHUE | /fﬁ&ﬁl
AN T (A f% IZ",*J * @ﬁﬁﬁ 67N ‘Fif R ?
V55~ RN | BBV S L
B @‘j;“ Aoy *ﬂlﬂkpj ik R RIS I F R
(C)@j?%}‘ AT (B F g f ;[;/‘I "\Tl’rjﬁ[ﬂj?c#ﬂﬁ?rﬂ]aj % @j@ I/ = £
(D) 255 = AT i '/fflﬂﬂ sV El*la%{?%ﬁ'@ltkb?%ﬁiﬂf i £
Eilfi A YEEEELY A R HRL?
(W) R e '/[fJ B FHH R EE S VIR
©Vjr l?'rlk D) *’l%Fﬁ%@@ﬁ ﬁﬁt‘
Jﬁéfgﬁjﬁ’%«[“‘jﬁpﬁﬁ{, I mlfﬁl?ﬁ F o
NI ~>T?F’I VHAEEL 2 =N
BIPNH Iy 12 i hy TR E > B J W T R
<C>[“9Hﬁﬂ] 18 Iﬁﬁljiﬁi““‘ﬁﬂ ’ IE'EI A R E T
O [~ =1l 6 ] > % w@fﬁu.—: DB I B )

(A



41

42

43

44

45

46

47

48

49

50

REE 12401
=t 4-4

Tk By 17 f"ftﬂ%‘; : FP@JCJ%H:}T;E&4 ?L"[/"\?.F/‘J , F’,J"EJJJ [F:'iﬂ JI'J;I/tfH;ﬂ , y 175 ET, LT F ,ﬁﬂrﬁiﬂz 7

WHL e g PR BT 277 {575 2 SRR R [ﬂlﬁr[fﬁ“ HELT o IR H R fE

(A) = £y * j‘ /"F&é{ Mged SE VSR F[E" RN H"li

®) 755 * JWJFEI‘* b AR D R E R L e

© = £+ [/Fllﬂufia* M~ £ j FflE IHE};

(D’F@zﬁ, R U El%fﬁ??[ﬂl’%ﬁj FEVEE “F‘»’Eﬁﬂ’?

NPT 106 fRHE > R R IEEA '/j? THEVE PEER LV E S o IR P VR

I—{'J%—ZP MEEEYS M VTR o — Jﬁ&‘gﬂ}%‘“ l—ﬁutn » URIEEA R F Y, 7 Tgy:/ ['7& I/tth ﬁ%“mi =

AP — BRI R 2

(WHFIHE ] B | o O iRy (O) Hi IR

IR R R A AR 2

w%ﬁrﬁ@EMﬁﬂ*

(B)ﬁ%‘y'ﬂ'ﬁﬁﬁi‘;]? 145 DVD > t@%ﬁf’ﬁg}* = E’ll”?’@gﬁl‘* i HIR. DVD
(OF R i M iy Fﬁﬁ”ﬁ'ﬁpﬁﬂjqi& FELC [/‘FIJL AT 2 ﬁﬁﬁiy%”l% AR RS PP
HEE e ,[ﬁg[ -

) 2l kR D £~ S (R

5 (AR IR A (R s 2D D

() 20 & ® 30 & © 40 = (D) 50

AIE ﬁ%“@ R e ol [ iy TN

W 2 FlEE - BSARE (AR

(B) /IR R E e 1 T L AT L TR A

)2 R SR AT E *lil*i YR

(D) 2> FlAEE2R - AR S JOSTIE L el

AIE FTJ PUERRARRFY FL - (B

() L%vﬁ&wﬁﬁﬁ&ﬁ@ VR > TR R B PRI PR e TpuE i o & Bt

© PR T %“i‘ﬁ;%ﬁ&ﬁh;ﬁ D) PRFIETN rﬁ%ﬁ*t qi?ﬂ‘ﬁ"%ﬁ"

l'*iF' PHPEARAE R PR e Y SRR AR F“':‘”’JH’T FH -~ R P
?ILF}’T;J@EF‘*‘[ FRHB “ﬁic fﬁ PP = 2

<A AR Bl (AR O HRFh e WEFIAG

Jr‘ﬁ% = MR [[‘jFIJ[SFFJI# N i‘rig THRETRE zg,ﬁo

NP 2 R T R

T ] S TIEE S VT

ﬁ
L

~ o~

B
OE 158 AT% [/Fqﬁggu;.

(L P R AP RAT T % » £V D i e

il kkiﬁﬂﬁ””r“hf YRR Y - %"fﬁﬁ?—‘io

AU = |~ T R FIS‘;EF[’ LN

B[S S5 SR 3734“5%7 VR 6 [/Iﬁ

(©) [Er Rk — Jﬂg[ﬁ

(A IR Bt | EEAP TR e » () 47 A2

B EYTRERT BN T SRR Y S S D B R 2
W 12 ® 24 5 ©36 1 D48 15§

—~ o~

)
(D) f



R 3R ¥ R
100 234 R MY 5% Bk A R4 204 R #EY Mt L4 254 ]

TR FRTERAD A QTR PRI RIGRI RIS R RE L R AT R
2iEAR A

Tk

SR g

P L B (PP FAREE C2FEG) (GRIEAE 240D
PEMBARFBENREEAE
IBp LW F “HEAREEA AT

5 #ic : H04E B 4 A B e AL 3E
: Line@& 5% - @gaofeng
HEE X @4 E 3 07-236-7296

%01 /02030405 0607080910 | 11|12]13 /14 15| |16]17 18|19 20
¢/ D/ A/A /D B |AA|C|B|D||/B/D/C|C|/A]|C|C|D|C|D

521 12223124125 |26)27 282930 [31|32/33 34|35 |36 373839 40
¢/ cjA/DjCcjc,|B|B/C|C|D|/|]C/ B|/D/AC|]|A|/B|D B|D

5L |41 42|43 44|45 |46 |47 48 | 49|50




100F 2524 B 4584 285 pLiwir A B 4238~ 100# O 7%
"
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F(FE L F IR B 5 AR B 0B
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i

N

Sy EVE R lvgfﬂf; WEATATILE B R RBOTA B AR o N ALY (TR 0 2T 3R

SRAmEET & K Gamy) R A E LR HERAE (da pe) g
» ;}%Z_KE‘;IJ;D% lﬁﬁg‘ = (row) g\ )77_IJ (COlumn) :‘% A e ;‘(\‘4 ﬁ‘g‘-ﬁ- Jii'},@‘ Féﬂ%ﬁ ‘o _BEI'_ ’
B2k A F— (B mxn s ] (10 4)

var A : array[1..m,1..n] of integer;

VBT B EF & K bytes 0 LA AR E L oac

G m=2,n=3,k=4,a=2000 5 & > 3P {75 A {orF 5 A I AR R
% bR PF LR o

OA S EN 0 F S e F A AL L TSi<m I <j<n diefatl? o4

=%

ARNF U E REE (assignment =i=) 2+ 3 § Qpiakmﬁﬁ'ﬂ'ﬁg e B
THAEEE RO ET A G (static) ﬂf (dynamic ) = f& 3 3% > &4
MLTE il oo HJETFRAE F ¥ Q PR R A ? T fs?

=\

;fu pPHEY o (RFEREA
A1) (20 %)
Of EPHT AL ERAPER RN FA R G g o
(—)’f’”ifﬁ FLA)RE @ A PR et A R b g o
&)z - ﬁﬁi;‘;%??’"j PER SR Lt 3 (e
A2 T LA TS e A B R R R blke C AR RIFE B AR
FrFEPHTHIAERRE R 2PHTH W LE 4 -

TFIARGE S SRR TR R O A B B RS ()FLF (static) -

(2)3 4 % (stack) 1‘?(3)i&‘7fa % (heap) - (20 4 )
OFRP TS HRE TP LR D
)& B Bl 7R FAL B & G AR R B o

TR B Exyﬁ;: (function) » * 3¢ 7 C (C-like) 353 K& 7 ° nfh‘,}:@] INESE S <
N3eEE Bl v T AR (10 4 )

(QUECSIESTE (e ’LB Ha9 (* nenddick &7 )

(D) #-iz B S Bz & 3 * recursive call 7 2 o

1) intf(n){

2) if (n>1)

3) returnn = f(n-1);
4) else

5) return 1;

6) }
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3SR 1008 Bt 20 n B At Ry 030 (g g
100 £ %Ej&ujﬁ?%ﬁ?ﬁAﬁfﬁ${

Holow RAFEA R

v
\
Rl

B TR
L poioAEsET R

‘ Prolog § - B:BiEMRNFE S (logic programming language) ° v ¥ it EF (fact) -~

| (rule) 2 p 4% (goal) > T3 SBEF ~2 'I#%REJ :

1) parent(carol, john).
2) parent(john, mary).
3) parent(mary, jim).
4) parent(john, sue).
5) parent(david, jim).

6) ancestor(X, Y) :=parent(X, Y).
7) ancestor(X, Z) :=parent(X, Y), ancestor(Y, Z).

B3k P #%#_ancestor(john, X). R ie & £ F » B ELER A X 5 70 ?2 (20 4 )

FNE 2 ez v * BNF (Backus-Naur Form) kit » 54 T2 29 B
4 74 55 (starting symbol ) #_S~a 7 :# & ~ (operand) - H 4 3 i terminal symbols
=& 5+ (operator) - 3 ‘Fﬁg’f;ljﬁ:ﬁ\‘: (20 ~)

) S—>S@T|T
) T—> WIT|W
3) W— #W|a

O R+ k& JCEFIE - BB EFET RRIALEI ) 0T
O & REF T Mg L8 B (precedence) » 7|3 Z =% eh3 BFEE 3 o
E7R 5 - ~FH S 7
C+ §_2 2 £ (left associative) ? 7Rt - AiF@H F § + % & (right



REI24051 1004 2A 4 R EET ER ARG AR5 100F 2%
P AR AL R AR A R 3R 100# 2534 B Y R
&

i AR 5 100F a4 @8 (L F A fiE 2 ar k| S
CERIEE R E R R k=

. f g o £ 5 W4 R B 0B AR
£ . . li, - ;.‘V«; ~
N R AL (I T Sy
G DL I ¥ TN T
7}1 po: %‘J— _;# #&;*ﬂi_@ Line@& 3% : @gaofeng
s . #B#EE 07-236-7296 .
YREE L L

RULR © ORGP E - ERA 0 jrE - RS b YR AFE TR > A A P o
ORFLP & 40 3L LS5 & 0 % 2B AT Bt b RATRUF R RRe o AL (T A A 0 o

LR TIEE

L PPN g e 64 00 fuZ sEMR BRe > RLI 2 VIR A > EA BRI LR 2
It i e et 11 11 111 111 111 1111 1111 1111 0000 0000
(A)-32 (B)-64 ©)-128 D-256
2 x = 1111 1111 1001 1100 >y = 0000 0000 0001 1001 > x ¥y £7RLE/E 1T, 16 7 [197 (UREIEH (two's
complement integer ) > F x/y ?
(10000 0000 0000 0100y, ®1111 1111110011014y @©I1111 11111111 1100twe 1111 1111 1111 010040
30 1) IR F(xy,2)=2(0,2,4,5,6) Ly A 24 2

A)x+yz Bx+yz’ ©z’+xy’ Dyz+xy’
4 T pPHEEP=Cory) ooty Y22 S AR
Axy+x’y’ Bxy+x’y Oxyt+xy’ Dxy

5 — FEEE (sequential circuit) 11 (T~ 38 (flip-flop ) = 5 {[atietl ] Fis 55 Y1 H%)“—"[’%T s HFIB~Ci~Cy >
Csblffay * 7 > ARBIRER R %F}FJAU/}E{J{%%J?E?“ LI ?

C1C,Cs
—
B 1 | ,
. T
) A
CLK—>C
WA(t+1)=(C;AB+Co(A @ B)+C3A) ® A BIA(t+1)=(C;AB+Cy(A ® B)+C3A) ® A
©A(t+1)=C;AB+C(A ® B)+C:A DIA(t+1)=C;AB+Cs(A ® B)+C;A

6 "] 2 {WSRT-"~ 3§ (flip-flop) == 3 [ mEERR™ R~ [RFH-F52E (sequential circuit) I [|IH=- » EF[ISRT-"~ Y
FIINANDRFRRERY » A ~ BARASEA R > XA inﬁ[ﬁ & b7 > YARA fiart 6 7 0 SA\ERAARA- 37 1 {WSRI-
ANy TR SpZERE [N ASY 2 ([WSRLM Y Myt CLKF [T r%fm‘ﬁﬂiﬁ'i@%&}@%@jﬁﬁﬂ%
B [ tpaZen BRI fﬁﬁﬁﬂ A ﬁﬁﬁﬁﬁﬁsﬂ (setup time) » ty 2 HF ExifF'Eﬂ hold time ) ] P[I™* :
~Iajas (inverter) : toa=0.5ns
TS ] (XOR) * ty=2.0ns
] (OR)  ta=1.0ns
=~ * tya=2.0ns, t;= 1.0ns, t, = 0.25ns
E;'ﬁfﬁﬁ @I*;?%E\ﬂjﬁ’fr (positive clock edge) = E#&a!, (Y) - H R B A i 9

|—sA A —>—]se B

>C —p>C

|—RA Rp OT_B

CLK
X J,D__I ‘D—Y
(8)3.5ns (B4.0ns ©)5.0ns (D6.0ns
7 %Q}ﬂ*'} £ 8Mx16 Eler%"lﬁ?g:H b - (address ) a5 | 2 pib i 2
(0)24 (B23 ©16 D13

8 T (EH AR > & 1 A (process ) %‘fﬂﬂ 1 fﬁ@ﬁ‘»}zﬁ’ﬁjﬂﬁhﬁi (process control block, PCB ) ’*{ér%‘[%ﬁéfgf{?ﬁ’iﬂﬁ[
rfﬁﬂ > Ml Iﬁ”ﬁﬂﬂﬂm @ 5 PCB 12
)

(A)program counter B)program execution code (C)CPU registers (D)I/O status information
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- ﬁjj&fﬁf;”mad to R27J[1™ }Eﬁ[rq:l , H Iéfisc R +1HE 100&'# 101 » HAbHHE (ADRS) Fosi

FI7v (NBR) i 4101 = 300 ; @'fw 1 Vi Es 200 « F E' IR T%‘Uﬁﬁlf“ (mdlrect addressing
mode ) %Fﬁjiﬂ I g (effective a dress EA) r JbFﬁf/}ﬁ |J§§#Lﬁ m-@'fw Wy R2 V[ EL{ 2
S T'F'F’“
3BT =)
—— 10 ol ey 402 450
101 ADRS HY
NBR=300
— 102 Ry 600 150
R1=200
200 600 702 602
R2
750 400
j'g{ | HEY :
LoadtoR2 300 750
900 200
(AEA=101 ; R2=300 BEA=300 ; R2=750 OEA= 4()2 R2=450 DEA=750 ; R2=400
PR AR ] SRR IS TR (eylinder ) HR YR TEIAA £
WY FEIJ (seek time ) thZ HEERY (rotational delay )
© lﬁlﬁﬁj 1 (transfer tlme) (D) [EEFERT (propagation delay )
Al EVF{*‘*ﬁ‘U (A IR VO SENE S o] ] » 1O SEf Sre i By il i F 35! CPU » [N CPU
F J: =00
(A) rogrammed /0 (Blinterrupt-driven /O ©DMA (Diisolated 1/0
PP 3= ZEPRL 1 {lelfef5Eh (critical section ) [l E;E_Tﬁ%éiiiji F’? S EOERF 2
AN (mutual exclusion ) B EH progress)
©F IH—a ﬁ ( bounded waiting ) D ”r (preemptlon)
P (B 5k (real time operatmg system ) i J%qfﬂi— ﬁj\[ FUASRLTER I 5 My = e
‘%{ SR J%‘@r =

D>

Eﬁi p[%ﬂjﬁﬂj REXG AN :E PP itlf

Wi %LIJ [‘ﬁ%itﬁ '| (h1gh prlorlty) R B ~FU [Eip— e =] "f’ﬁ@ﬂl"

B IMJ‘ SRR (virt 1 ) PR Y S VR R (delay) - AT SR iR PR SR
s IJ;%I%F EE' virtual memory ) fi'fj= bl H Fﬂﬁ JJ” elay F'F ]%%]:

(@5 [%ﬁiqi’:’?ﬂ E?E[fktl[ﬁllﬁf 5 (hard real-time OS) > EW‘E,I‘}E%#‘ ) lﬂjﬁ SEERI ) Eﬂf t77 " (time-sharing )
HFERE 2 [
OB (BRI R[] BVERAY 2% £ (scheduling ) }H CPU Eﬁf = Jfﬁyjf' FHTE T [ Tﬂﬁ AR
2% (fairness )

}{ﬁ]’ C++%E*V|EILJ’FL7§I'| Iz? (compile ) mﬁAFﬁ:ﬁ [FrEfdg 2

E'E YR (object file ) (B)iﬁglfrﬁ', (header file )
?114 M (text file) D' 51 (executable file )
[J |REREZY (subprogram ) fu#st » lfl?%ﬁ?ﬂ?
W IEU ZYERE | Sk (B) Ji* [ = AR i
(Ol i TR Ly AR i e OVEPHPES5 T S T2 S RIS A A
- \/[’jJ} C A= P L ug@;tm Bk % Va2

#include <stdio.h>
int main()
{
inta=1;
while (a<3) { printf("*"); a+=1; }
do { printf("*"); a+=1;} while (a<6);
return O;

2 TR Hi flﬁﬁl Mﬂﬁiiﬁ”ﬁ? K “'F“?
#include <stdio.h>
main() {

inta=2,b=75;

a+=at+ * --b;

printf(“%d\n”, a);

;
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1 4-3
LR C st R
for (j=0; j<20; j++) /* Version 1 */
for (i=0; i<10000; i++)  x[i][j]=x[1][j]+1;
o
for (i=0; i<10000; i++)  /* Versi0n2 */
for (j=0; J<20 J++) X[i ]= X[1][j]+1;
2 R il T O SRR 1 (048 A0 (direct-mapped) EYRIHEV IR
£ (datacache) - Xl £, 8KB Eﬁﬂw@ (block size ) %1 bR R 'r HIE;i*TTF“u'ﬁ}‘ﬂJETTEI* Rl S|

[I**E”“ T ”é*‘ﬁmﬁf% EE el I.ﬁ (error) J}F*T/lﬁi“iﬁaﬁr &9

A%~ Fﬂ’l{’g?l: ISy SE [ I J—Lf‘\n ( cache miss rate ) F*ﬂ,f( 59
(B)’%’gi EAYE EA ’ “ ’E ’T’§¢ E'TE*H H@/%' IF“ Uk (cache miss rate) P
(C)[n FEVIS A S A1 x%’§¢ EILJE?;H H{f‘V MRPRYR R (cache miss rate) 1]l

—

D)Fn FEAS 4 AT K‘ﬂ:LP%\IT [l

I@F [~ push =¥F A, B Ej bﬁ‘ (stack) Fl1» $™ e [®pop FI{=H Efverk] Kb ?

WA (B)B ©cC DD

FJ7 e 7€ 143545 hash function i_;[%lfj £ 2

(A)7 giﬁ’r (B)= iy * %l@ﬁ[gﬁ BN e

©f= 1’?& J/E}ﬁ (D)ﬁilﬂ%‘_ f— 53 Pl Cuniform distribution )

£~ A AT (binary tree) [ -F (preorder traversal ) 7fif £t ABDECF G > (1% :L? (inorder traversal )
FsDBEAFCG> %F} [P~ i iﬂf ( postorder traversal ) 7ififNl £ {f 2

MWABCDEFG BDEB & ©BDEGFCA ODCFGEDBA

= M (tree) PP+ @

M 55 l_l i ?
(AL i% '@L (bmary search tree ) =’ f_#m W LA (complete binary tree )
<B>JL' T iR LR ﬁlrj % 8- ( full binary tree )
o7t PR lﬁﬁﬂﬂj\ L A
(D) i 7 FE A RLRL A R ﬁﬁf
~ =i (binary search tree) plT > Hi— FEd F3f 1] J»}{ﬁ]’ TR B
(A)preorder (B)inorder (C)postorder (D)level order
R (tree) At e[ E node ) V3% (edge) #=AY o NYIELE | REIFTRITI ARG (tree) A
f%; ) R R R AR C S AL % (edge) 4 UELT R 5 Coree)

OB (root) ARG 5717 (degree) £ 3 > [ bl Silitiil = 7 48§ (ternary tree )

QAT E ~ H ~ J~ t»ﬁicus A (s1b11ngs)

@jvg’![_c H ~ J B[ % 1K :ﬂ( internal node )

@3 5';{ i’ (external node ) VEFENEL 8

@%ﬂ [ﬂ 5 (XY N P A [l ‘/?’j (ancestor ) AR~
i wef fEl :

b i 47 B@ME  BOOIE D@HE OB D@

nlﬁ%ﬁmiA LA Sy %tﬂ :

( )O( 1) B 0(log n) ©O(log log n) (D)O(n)
S-S ET=Y (infix expression ) :(1+3)*7 fB5Y & -3 BT (postfix expression) & » adi{d £ Wi ?
1+3*7 B*+137 ©13+7* D1+37*
N[ ﬂﬂij Rl = A (hash table ) 1 (overflow ) AU ?

A %I%‘?ﬁ‘ﬁié (rehashing ) (B L&;ﬁ_ ( chaining )

(C)Jﬁiﬂ[Fl ( merging ) D) %}3&3 (random probing )
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’ET:" D 4-4

T PIQ‘E‘H‘H%HI ’ fifrﬁi{’gf A B ]lt?l@lgj _fi#51 (breadth first search, BFS) [[Jig‘fri‘f@l!}l YHHE SRR
ff

| o%o
S0

(A)ABEFCDG (B)ABFGCDE (C)ABFECGD MABECDGF
5 2 {55 Wl T m [T n lﬁﬁ‘%ﬁ’?’r S5l (doubly linked list) £ #5551 {3 Fl[IE (A Yo Rl &
Q(l) K BQ(m ﬂ I ©Q(m- n) i (D)Qfmm(m—(n)) jJ;

IR 1 R EJE%H'? F o LR R 2

(A)~ 7u 4} (binary tree ) (B~ 7 fiZ=f#t (binary search tree )
O EAT (red-black tree ) D= = 11 (2-3 tree)

N HES- G "Epﬂ {9l (linked list) Fl0<2% [ fi ™ 1% NULL S5 2

(A)%i}{&%ﬁ“ iFI31" Ccircular linked list ) B l' %ﬂ: i3]l (single linked list )

© A %ﬂ: [13]] (doubly linked 11st) D) “%ffijs %?‘F [{9]] (multiply linked list )

(vgﬂ”":“ ePR Il NI L g

CUREIN 'H‘w@@ jﬁ‘? 8 (B) E*?HiH‘F'P # (primary key) E ])EIT A-FIH

(c)@ﬂ aﬂ%ﬁﬂj " WP ﬂ*ﬁ”z**] e D) [ EPR] 3 %ﬁlﬂ :j;f BT
ﬂ% [t * ;Eﬁgu ﬂ»&IHF“f i (telephone ) AfEHL FAFIEAR (Tntefnet) - LR i - vui%f AT
IJ [
A" vﬁ@%‘F H# (multimedia gateway ) (B)gj@%:gg& ( modem )
(C) RN E‘,[, (Ethernet network card ) WES ’I’"'F' 1% (cloud server )
I SNMP #55% » %ﬂL At 9
@SN P AT AR R ?J‘ > Mgl UDP (i

(B)QZ:L%FI*%‘ < (agent) oA =A% E’Q [jl'jaé&s‘r
(C)AJ;""L SNMP % (SNMP cornmumty) F,FJ ’ )];&J B R e R
(D)glLIMP FPOFS TRl R CMITP TV RS s f}
JF*E RSA (Rivest, Shamlr Adleman) Rk '%jfirwﬁ Jﬁiﬁ‘}i[?{ﬂ%ﬁ?{‘?
(A)E}Vﬁ“ A V“‘éf,%b JLT”'JRSAH
(BRSA = ol 77 £ 3 [ A © Z45EfE 4+ (key pair generation) ~ Y[ FEL (encryption ) = HidGF EL
( decrypt1on )
(ORSA ' = 14 hLgt r+}{11 [l B 3 ety 2 [l TN A S
DRSA FLEP 'ﬁirw
[Jlf[f‘E‘ = ﬁj 3:%@" E[ Al (blind signature ) #& &7

F)u

ET%I

A ;“:# & %l electronlc Votlng systems )
B V"'f FE ( dlgltal cash)
(@) thuﬂd‘i = [Hifay —mﬂﬁ (end to end reliable transmission systems )
(D) utﬂ‘ J [i i’?ﬂ} —mﬂﬂ (end to end auditable systerns)
gec (IP security ) Fpussrt » [ BEEL?

r 1P
(A)IPSe T{% Ef7 AH (authentlcatlon header) ﬁy LBy d =
(BIPSec 4% IF[I S ESP (encapsulation security payload ) {73t Hi\[f_sp [ =
©)1PSec 4% If[l H] IKE (Internet key exchange) Br }“@\,%ﬁﬁ\&iﬁﬁ
(DIPSec {7 H-e) { A i1 (tunnel ) =55 ﬁ (networkg
s T R e ey ISR [
®) I+%‘4L I\A}'éﬁﬂL rﬁ?‘l‘jjﬁ Illﬁ‘{ﬁ-ﬁﬁl ]7J IiFE » Fl E 1 :":—J‘/ Eﬁ—}y% fﬁ_}rbidﬂp—: J]:' '1{2_?!]14{'%
W g o
o e g i S m R e
Dt & s BT A gt Mg 4 7T
TP ﬂz: Hio Tyﬁ;[ Il (class method) pufcscail P ?
(A)FE‘C}’JF’\ﬂHi'YFIHI (Elass) LIEIECES (instance ) Fr=H [T |
B B AE] (class) - FG [ Efd (instance ) F’#‘g'}‘;ﬁ E|
© B {[HHIF7{F (object) - r’v[ﬁﬁj[“‘é’u i (instance ) B [F }‘;EE
(D)FET}’JF’\ HHIP2F Cobject) - Fb{f f]ldr o (mstance) F’?K‘ l}‘;EE
Pz [ﬁlﬁﬁ T (secure socket layer, SSL) T {fi™] * ﬂﬂ[[‘{iﬁj ARSI FE[JV:k TR T [ﬁ“lﬁ]? A LA g
(conﬁdentlahty) ?
(AMDS5 BDES (©3DES (DIDEA
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